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Tuesday, July 10, 2012

--- On commencing at 9:40 a.m.

MS. HARE:  Please be seated.

Good morning, everyone.  The Board is sitting today in the matter of application EB-2011-0210, submitted by Union Gas Limited, for an order or orders approving rates for the distribution of gas to be effective January 1st, 2013.

My name is Marika Hare and I will be the presiding member of this hearing.  With me on the Panel are Board members Paul Sommerville and Karen Taylor.

Following interrogatories and a settlement conference between interested parties on June 28th, 2012, the Board received a proposed settlement agreement as agreed to by Union Gas and the 16 parties listed on page 3 of the settlement agreement.

The purpose of the first part of this proceeding is to hear details on the settled issues.  In particular, the Panel needs to understand the basis of the settlement.

The Panel will then take a break to deliberate on the acceptance, or not, of the agreement.

Following the Board's decision on the settlement agreement, we will proceed to hear evidence on the unsettled issues.

May I take appearances, please?
Appearances:


MR. SMITH:  Good morning, members of the Board.  My name is Crawford Smith.  I appear as counsel for Union Gas Limited in this matter, and with me today and throughout this proceeding will be Mark Kitchen to my right and Chris Ripley to my left, both of Union Gas.

MS. HARE:  Thank you.

MR. BRETT:  Good morning, Madam Chair and Board members.  My name is Tom Brett and I will be appearing on behalf of BOMA in this proceeding.  Thank you.

MS. HARE:  Thank you.

MR. WARREN:  Robert Warren for the Consumers Council of Canada.

MR. SHEPHERD:  Jay Shepherd for the School Energy Coalition.

MR. THOMPSON:  Peter Thompson for Canadian Manufacturers & Exporters.

MR. QUINN:  Dwayne Quinn on behalf of FRPO, and, if I may, I would also like to enter an appearance for Jim Gruenbauer of the City of Kitchener.  Jim can't be with us today, but will be with us later on in the proceeding.

MS. HARE:  Thank you.

MR. MacINTOSH:  David MacIntosh for Energy Probe.  As well, I wish to enter an appearance for Roger Higgin, consultant to Energy Probe.  Dr. Higgin expects to attend this afternoon.

MS. HARE:  Thank you.

MS. YOUNG:  Valerie Young for the Ontario Association of Physical Plant Administrators.

MR. BUONAGURO:  Good morning.  Michael Buonaguro for VECC.

MR. AIKEN:  Good morning.  Randy Aiken for the London Property Management Association.

MR. ROSS:  Good morning.  Murray Ross for TransCanada Pipelines, and I would like to register an appearance by Gordon Cameron, who is at the moment tied up at the NEB hearings and will be joining us when he can.

MS. HARE:  Thank you.

MR. WOLNIK:  And John Wolnik representing APPrO.

MR. MILLAR:  Good morning, Madam Chair and members of the Panel.  Michael Millar, counsel to Board Staff.  I am joined by Khalil Viraney and Lawrie Gluck.

MS. HARE:  Thank you.  Are there any procedural matters before we receive further information on the settlement proposal?

No?  Then we will turn to the settlement proposal, but, in terms of logistics, we will have one break at 11 o'clock, which will be from 11:00 to 1:00, to accommodate a number of parties that will be participating in a stakeholder meeting.  So we will go to 11:00.

Now, in terms of the settlement agreement, and, Mr. Smith, we will turn to you to walk us through this, but we would like to make a comment at the outset, and that is that we found the settlement agreement somewhat thin in terms of the numbers, for example, not being incorporated into the settlement agreement.  We understand they're in appendix B, but we would like to see them in the body of the settlement agreement.

That may take some time and that is fine, or you might be able to do it.

MR. SMITH:  Well, perhaps, Madam Chair, while I am in the process of making my submissions, there will be a period when I turn to you and it may be just appropriate at that point that we could have a brief discussion about the clarification the Board would like and what the Board would like reflected or moved from the appendices to the body of the text itself.

Certainly if that assists the Board, we are perfectly prepared to do it.  Obviously I am not in a position to do it immediately, but if there are specific questions about the appendices, I hope to be able to answer those.

MS. HARE:  Okay, that's fine.  Thank you.  So we will turn to you, then, to walk us through the settled issues.

There is no need to go through the unsettled issues, obviously.

MR. SMITH:  I was going to make a comment that this was a good opportunity for me to lead a bunch of evidence, but --


[Laughter]

MR. SMITH:  -- I wouldn't do that.

[Laughter]
UNION GAS LIMITED
Presentation of settlement agreement by Mr. Smith:

MR. SMITH:  Madam Chair, members of the Board, as indicated in your initial remarks, you have received a copy of the settlement agreement dated June 28th, 2012.

The agreement was contemplated by the Board's Procedural Order No. 4 dated March 26th, 2012.

The settlement conference itself, which was facilitated by Mr. Chris Haussmann, took place over two weeks, from June 6th to June 18th, a two-week period.

The agreement, being dated June 28th, took some time to draft and, as you can imagine, was also the subject of further negotiations during that period.

The Board settlement conference guidelines indicate that the Board is committed to the settlement conference process as part of its objectives of achieving greater regulatory effectiveness and efficiency.

The guidelines, as the members of the Board will be aware, go on to say that the purpose of the conference is to settle all of the issues referred to in the conference, or at least to settle as many of those issues as possible.

In this case, all issues were referred to the settlement conference and the parties worked diligently, in my submission, towards narrowing, to the extent possible, the issues requiring Board adjudication.

The parties' efforts are reflected in the agreement, and I will come to this, but it is worth observing now that the parties took very seriously the Board's admonition that they consider whether issues truly needed to be treated as a package, or not, and you will have seen consideration of that in the agreement, particularly at pages 1 and 2.

Now, the public interest benefits of settlement are well known, and obviously they underpin the Board's endorsement of the settlement process in its guidelines.  Contested proceedings before the Board are a form of adversarial process, and no one knows, until the decision of the Board is received in any particular matter, what the outcome will be.

And it is, of course, that uncertainty that, in part, drives parties to reach a compromise.  The bounds of what the evidence can reasonably support forces compromise on the parties.

The settlement conference involved in this proceeding involved a range of constituencies within Union's franchise area.  There are 16 parties indicated at page 3, but, broadly speaking, they represent small and large customers, low-income customers, municipalities, schools, manufacturers, exporters and power producers.

These interests were able to come together, as reflected in the agreement, after two weeks of difficult negotiations, and that, in my submission, is a strong indication that the agreement overall is reasonable, in the public interest, and should be accepted by the Board.

That is not the only basis, of course, on which we say that the settlement agreement should be accepted by the Board.  There is, as well, the body of evidence behind you which, given the volume of carts, we can all agree is considerable.  Not only is there Union's prefiled evidence, but Union has answered over 2,000 interrogatories and undertakings given during the technical conference.  In my submission, the discovery process in this case has been considerable.

This brings me to the settlement agreement itself.  And members of the Board, if you have the settlement agreement at hand, there are a number of aspects of the agreement that I submit are worth observing.

The first is that the settlement conference is a bit of a hybrid.  It is a partial settlement, at least in that all of the issues were not settled.  In broad terms, the parties were able to reach an agreement on the issues relating to rate base -- those are the B-related issues -- and cost of service issues, those being the D issues.

And I say that is the case with the exception of the Parkway West project, which the Board will hear evidence on on about July 24th, schedule -- if our schedule holds up, and which is not anticipated to close to rate base until November 2014, and therefore will have no impact on 2013 rates and the gas supply plan.

The parties also reached agreement on several other issues and those are reflected at the bottom of page 1 of the agreement.  They cover a range of issues in this proceeding.  They are issues 4.3, 8.3, 9.3, 9.4, 9.6 and 9.7.

Now, one feature of the agreement that I wanted to point out in particular is with respect to rate base, and the cost of service issues.  Those are each a package from the parties' perspective, and the Board will be well aware of packages and that sometimes settlements come as a package, and that is for a good reason.  And it is for a good reason that the Board has endorsed settlement packages previously and not least in Union's last full cost of service proceeding.  But settlement is all about negotiation and compromise, and what may be acceptable to one party on a point may not necessarily be to someone else, absent a concession made to offset that.  And in the negotiation process there is often give and take, and what is the result is a settlement which falls, in my submission, within a reasonable range of acceptable outcomes to all parties and is in the public interest.

But as I said several minutes ago, the parties took very seriously the Board's desire that they consider whether all settled issues had to be treated as a package, or if some could reasonably be severable, such that if the Board were to disagree -- and we obviously strongly urge you not to -- but if the Board were to disagree, other aspects of this settlement agreement could go forward.

And it was for this reason that you will see in the agreement that only the rate base and cost of service issues are packages.  And even at that, they are each severable from one another, and I hope this was sufficiently clear in the agreement but the intention is obviously that the Board could accept the rate base package and decline the cost of service package, or the converse in either case.  Obviously we would urge a different result.

Now, I did not intend at this stage to review each of the settled issues.  However -- and this is coming back to what I foreshadowed earlier -- if there are aspects of the agreement that the Board would like further submissions in respect of, I am perfectly happy to do that in order to satisfy the Board that the agreement is in the public interest.

In respect of each of the settled issues, the parties took great care to identify the evidence which supports the settlement, including the interrogatories, and where appropriate, any additional evidence from the intervenor side.

So you will have seen in a number of the issues a reference to Mr. Rosenkranz's evidence.  He was called or will be called by CME and FRPO, for example.

So if you look on page 3 at rate base, and over to page 4 dealing with issue B1.1, which is a settled issue with respect to Union's forecast level of capital spending excluding Parkway West, which I alluded to earlier, there is set out there a series of detailed references to the evidence.

So subject to particular aspects of the agreement and the concerns, if any, Madam Chair, you expressed with respect to appendix B, I was not proposing to review further the agreement.  However, I am perfectly prepared to do so, and I would ask for specific direction from the Board in that respect.

MS. HARE:  Well, the Panel has just a few questions on the settlement agreement, but what we would like to see is that the settlement agreement ties in the numbers from appendix B in the body.  And that can be done in, you know, a few days.  There is no urgency to do that.

MR. SMITH:  Certainly we can do that.  And we can cross-reference, if it is of assistance, and incorporate the specific figures in the aspects of the agreement.

So for example, with respect to issue 1.4, perhaps just so that we're all clear as to how we can be of assistance, issue 1.4 refers to the proposed test year rate base.  And there is a reference to appendix B1, schedule 1, and the reduction of 1.6 million.

If you turn, members of the Board, to appendix B, schedule 1, the second item from the bottom of the page is the approximately 1.7 million.  So that is the $1.689 million that is referred to in that item.

So I just want to make sure that I do exactly what the Board wants us to do.

MS. HARE:  No, we understand the numbers are there, but we want the body of the settlement agreement to be a standalone.

MR. SMITH:  I see.

MS. HARE:  Okay?

MR. SMITH:  Okay.  Well, we can certainly do that.

MS. HARE:  You can do that?

Now, we have a few questions, and not many.  Okay?

MR. SMITH:  Yes.  It may be, before we take the specific questions -- one thing that I thought might be of additional assistance to the Board is to review the specific approvals requested by Union in relation to –-

MS. HARE:  Yes, that would be helpful.

MR. SMITH:  -- in respect of phase 1.  And we do have, the specific approvals are set out at Exhibit A1, tab 3, schedule 1.  But we had copies made of that schedule, which we can distribute, if that is of assistance.

MS. HARE:  Thank you.

So that would be given an exhibit number, Mr. Millar.

MR. SMITH:  I don't think it needs to be given an exhibit number, Madam Chair, in that it is at Exhibit A1, tab 3, schedule 1, if that might be more efficient.

MS. HARE:  Okay.  That's fine.  Thank you.

MR. SMITH:  So if we look at Exhibit A1, tab 3, schedule 1, I would just propose to walk through the specific approvals, at least as they relate to phase 1.

So item 1 asks for approval to charge rates from January 1, 2013, to recover a $71.4 million delivery-related deficiency.  And as the Board will have seen at the settlement agreement, appendix B, schedule 1, that figure has been revised as a result of the settlement agreement to a figure of 56.580 million.

With respect to item number 2, the parties have not reached an agreement, so that remains outstanding.

Item 3 asks for approval to adopt the Board's revised formula for return on equity, and that matter has been resolved and it is addressed at issue 4.3 of the settlement agreement, and that can be found at page 16 and over at 17.  And the parties have agreed that Union's return on equity will be established using the formula as determined in the Board's report, and, obviously, the final rate of return on rate base will be determined using the September 2012 actual figures and forecast bond yields.

Item number 4 asks for approval to adopt USGAAP for rate-making purposes, and the Board will recall that that was the subject of a preliminary issue heard in advance of interrogatories, and Union was granted approval to file on the basis of USGAAP.

Item number 5 asks for approval in respect to a change to the weather methodology.  There was no settlement in respect of that issue and it will be addressed, I believe, by Union's first panel.

Item number 6, an approval to update bad debt expense as part of the quarterly rate adjustment mechanism process, Union, as reflected in issue 3.12, is no longer seeking that approval from the Board.  That is a risk that Union has traditionally borne and is prepared to bear going forward.

Item number 7 asks for approval of the change in the provision for depreciation, amortization and depletion, and that issue is resolved, as well, at issue 3.4, which can be found on page 11 of the settlement agreement.  And the parties accept the provisions for depreciation, amortization and depletion proposed by Union based on its 2011 depreciation study.

Item number 9 -- sorry, item number 8, thank you, relates to approval to recover the costs of Union's community investments.  That approval is no longer being sought.  As the Board will have seen under item 3.1, relating to the overall O&M budget, the parties have reached an agreement with respect to the O&M budget, which calls for a reduction of $9.55 million.  Certain specific adjustments have been agreed to, and one of them relates to community investment, and that can be found on page 9 of the settlement agreement.

Approval of the change to the system integrity space requirement included in delivery rates, that issue is dealt with at issue 3.16 of the settlement agreement, and the parties accept Union's proposed system integrity space value and its allocation for 2013.  There will, I expect, be some cross-examination in relation to system integrity space and its actual uses, but that will not have an impact on rate base or cost of service.  It is a revenue item, and I hope that explains the wording in 3.16.

Item number 10 seeks approval of funding for the Energy Technology and Innovation Canada Program, or ETIC, and that, like community investment, is resolved, in that Union is not seeking that approval and it was the subject of the 2013 O&M budget.  ETIC is identified on page 9.

Finally, approval to continue to sell gas to consumers, that is an approval that Union will be seeking in this proceeding.  It is actually not on the issues list and it was not the subject of settlement, but it is something that Union has done historically and will be seeking the continued approval from the Board.

MS. HARE:  Just going back to number 10, if I understand what you said, that is part of the envelope for OM&A?

MR. SMITH:  Well, yes, but a bit more than that, in that there was an agreed-upon reduction of $9.55 million.

MS. HARE:  Right.

MR. SMITH:  And ETIC is part of that.  Union has removed from its O&M budget, for rate-making purposes, the entire amount relating to ETIC, which is $5 million, and that is why I say we're not seeking that approval.

MS. HARE:  Okay.  On issue - the way you have it listed now - 11, approval to continue to sell gas to customers --


MR. SMITH:  Yes.

MS. HARE:  -- you said that is not on the issues list.  Is that an issue that has been raised by parties?

MR. SMITH:  It was not -- I am not aware of any interrogatories in relation to that issue.

MS. HARE:  Okay.  I am a bit confused.  Why is this an issue?

MR. SMITH:  No.  I don't think it is an issue, Madam Chair.  I apologize.

MS. HARE:  All right.

MR. SMITH:  I don't think it is an issue.  I don't think anybody will have an issue with this at the end of the day.

MS. HARE:  You just want confirmation that --


MR. SMITH:  That we will be seeking that approval.

MS. HARE:  Okay, I will write that one up.

[Laughter]

MS. HARE:  Okay, that was very helpful, Mr. Smith.  I have one question.  3.11, which is indicated as a partial settlement on page 13, my page 13 --


MR. SMITH:  Yes.

MS. HARE:  -- my understanding of the way this is written up is that there is agreement to the numbers --


MR. SMITH:  Yes.

MS. HARE:  -- but there is not agreement as to whether or not you should file the income tax returns; is that correct?

MR. SMITH:  That's correct.

MS. HARE:  So you would like a Board decision on whether or not you are compelled to file the income tax returns?  That's the issue?  I just want to understand.

MR. SMITH:  I'm not sure that I want such a decision -


[Laughter]

MR. SMITH:  -- in that we have not filed them, but I - we have agreed that parties may ask for the income tax returns.  I expect that they will, and I expect we will have a disagreement as to whether or not they ought to be filed.

MR. SHEPHERD:  Madam Chair, I wonder if I could interject on that, because it was Schools and Board Staff who asked for them.

This provision is in there so that the decision to settle the issue is not a precedent for the fact that they refused to file them.  We actually don't expect to ask for the tax returns because, if they were filed, you couldn't do anything with them, since we've already settled the issue.

But we didn't want to be precluded later with Union saying, Well, you didn't get them last time; you're not going to get them this time.  So they have agreed next time we can ask for them again, and then have the dispute.

I think that -- Board Staff can tell me whether they want to pursue it, but I don't think we want to actually pursue it, because I think we would be wasting the Board's time.

MR. MILLAR:  I don't expect we will pursue it either, and Mr. Shepherd has accurately conveyed -- obviously, Board Staff is not party to the settlement, so we didn't really have a hand in drafting this, but that is my understanding, as well.

MR. THOMPSON:  We might pursue it when the cost of capital panel comes, but -- undecided at the moment, but it is still an open item, as far as we're concerned.

MS. HARE:  Okay.  My puzzled face is whether or not this is actually a partial settlement or not, then.

MR. SMITH:  Well, there is...

MS. HARE:  There are two components.  One part is settled; the numbers are settled.  The second part is not settled.

MR. SMITH:  Well, correct.  I mean, the request to file the income tax returns -- as I understand Mr. Thompson's comment, he may ask that the income tax returns be filed.  With respect to Mr. Shepherd's comments and Mr. Millar's comments, I am perfectly comfortable with that.

It is a matter somewhat of belts and suspenders, in that the settlement agreement, like all settlement agreements I have seen, provides that it is not a precedent for future matters.

But the numbers themselves relating to the income tax component in any event have been resolved, and it is that aspect which is definitely a subject of complete settlement.

So it may be that the wording is inelegant in calling it a partial settlement, because there is no party which disagrees with the numbers.

MS. HARE:  Mm-hmm.

MR. SMITH:  So it may be clearer from the Board's perspective if we re-label that "complete settlement" while keeping the wording the same.

MS. HARE:  Okay.  Thank you.  I think Mr. Sommerville has a question.

MR. SOMMERVILLE:  Just a clarification to some extent, Mr. Smith, with respect to item 9.4.  And I understand that there is a complete settlement, that the parties agree that some sustainable efficiency improvements and efficiency gains were obtained by Union under the incentive regulation, and that they are reflected in the figures that are being presented.

There is no agreement on the following, and I guess that's -- whether Union's calculation of its productivity and efficiency captured all that was or could have been captured, whether additional efficiency gains should be expected after 2013.  It is an odd -- it is an odd formulation of settlement.

MR. SMITH:  I suspect you may be hearing from Mr. Shepherd again in response to this, but let me offer this.

If Union were filing a cost of service and IRM application, this would be different if we had a settlement.  But Union has not, and Union has filed a cost of service application, and thus you have a settlement on cost of service items, which is reflected in issue D.

What you don't have is any agreement on what the appropriate measure of Union's productivity under its price cap formula would be.  And as I understand my friends, they don't want to be precluded from arguing for any particular productivity factor going forward.

MR. SOMMERVILLE:  That's very helpful.  Thank you.

Mr. Shepherd, you --


MR. SHEPHERD:  I was just going to add that, because this is my fault, I think, that --


MR. SOMMERVILLE:  You're two for two.

MR. SHEPHERD:  We have an upcoming proceeding on the IRM period, and this is dealing with how they've calculated what component in any event of their OM&A is efficiency, not whether the total OM&A at the end of the day is a reasonable one or not.  It is about how it is split up.

MR. SOMMERVILLE:  Thank you.  That is helpful.

MS. TAYLOR:  Just for my edification, then, because this agreement will be used as the base for the subsequent IRM, you are not arguing that the OM&A number is an inaccurate step-off point.  You are dealing with a classification of certain things, but the number itself is essentially sound, that the Board can rely on for the subsequent IRM discussion; is that fair?

MR. SHEPHERD:  Absolutely.  Absolutely.

MS. TAYLOR:  Thank you.

MS. HARE:  One last very minor point.  The Exhibit A1, tab 3, schedule 1 -- which you gave us today, which we already had -- if specific approval is requested, why do you label it phase 1?  Just for the record.

MR. SMITH:  That's a -- well, it is historic, in that, I believe, traditionally Union's filings have been treated -- phase 1 is the pre-cost allocation rate design matters, phase 2 is the cost allocation rate design matters.  But this proceeding, of course, is not phased, in that we're going to be sitting for some period of time and then months later for some additional period of time.  It's a historical nomenclature, but we are obviously going to run right through into cost allocation and rate design.

MS. HARE:  All right.  So there is no phase 1.  There is no phase 2.  This is it?

Because -- the reason I asked was I was wondering if you thought this was phase 1 and your IRM was phase 2.

MR. SMITH:  No.

MS. HARE:  It is a separate application.

MR. SMITH:  Keeping with the inelegant nomenclature, that would be phase 3, but it is a separate application.

[Laughter]


MR. SOMMERVILLE:  Or 2A.

MR. SMITH:  Yes, 2A.

MS. HARE:  Do you have any other questions?

The Board will deliberate over the break, and I think we have noted a few areas where we would like changes made.  So it may be that the settlement agreement is actually reviewed in a couple of days once you have made a few changes.

So what we would like to do -- because we are breaking at 11:00 and we don't want to take more time than needed, is to move into your first panel.

And in terms of the hearing schedule, I think it was conveyed to you from Board Staff that what we would like -- you issued a proposed hearing schedule with the settlement agreement and the Panel would like to make a few changes to that, and that is to hear the issue, both the applicant's evidence and then the intervenors' evidence right after that.

MR. SMITH:  Yes.

MS. HARE:  We don't want to have a break of, say, a week and a half before we hear the intervenors' evidence.

MR. SMITH:  May I suggest the following?  We have received from intervenors, I believe, all but perhaps not yet estimates of cross-examination.  Obviously for the later panels, they may be somewhat preliminary.

We've also been made aware of the Board's desire.  So for example, with respect to cost of capital, we will have the Union witnesses and then we will have Dr. Booth attend immediately thereafter.

Why don't we prepare a revised schedule?  And we will provide it to you, hopefully later today or first thing tomorrow morning, that we can use as an objective.

MS. HARE:  That would be fine.  That would be fine.  Okay.  So if you could introduce your first panel?

MR. SMITH:  I don't believe any of them are here.  They're not here.  I wasn't sure how long -- I mean, they're here, in that they're down on the 20th floor, so it may be -- if we could just have a few minutes?

MS. HARE:  Why don't we take five minutes, then?

--- Recess taken at 10:17 a.m.

--- On resuming at 10:29 a.m.

MS. HARE:  Mr. Smith, is your panel ready to be sworn in?

MR. SMITH:  They are, Madam Chair, but before I ask that they come forward to be sworn and I introduce them, there are just two brief matters that I would like to address.

The first is I understand the Board's request to incorporate into the body of the agreement a number of the figures set out in the appendices.

I wanted to observe, because this is something the parties did turn their minds to, the appendices, while not in the body of the agreement, are obviously part of the agreement, and there is a specific reference to the appendices and reliance by the intervenors or reliance by the parties on the accuracy and completeness of the appendices in entering into the agreement as set out at page 2 of the agreement.

So we will certainly make the change, but I wanted the Board to be aware that, from the parties' perspective, they obviously consider the agreement with all of its appendices to be one document.

The second observation or question, I suppose, I had for the Panel is, while we will make obviously the change that the Board has asked for, I wonder whether I could ask if we can expect the Board's ruling with respect to the acceptance of the settlement agreement itself, in substance, and it need not come obviously this minute, but before I turn from the settlement agreement, I want to make sure that I have addressed in my submissions any concerns that the Board has with respect to the substance, as opposed to the presentation of the particular numbers or the formatting of the agreement.

Not to minimize that, but I want to make sure that substantive issues I have addressed.

Obviously there are scheduling issues.  If the Board has concerns with respect to the substance and declines the agreement, that I would need to be able to address.

[Board Panel confers]

MS. HARE:  The Board is satisfied with the substance of the settlement agreement.  We would like to see what we would characterize as housekeeping matters in terms of the agreement taken care of before it is officially approved.

We are satisfied with the substance of the agreement.

MR. SMITH:  Thank you, members of the Board.  That is extremely helpful information.  Thank you.

So I would like to call Union's first panel, if I may.  It addresses the issue of in-franchise revenues.  And if I could ask Mr. Paul Gardiner, Ms. Sarah Van Der Paelt and Ms. Cheryl Newbury to come forward to be sworn or affirmed?
UNION GAS LIMITED - PANEL 1

Paul Gardiner, Sworn


Cheryl Newbury, Sworn


Sarah Van Der Paelt, Sworn

Examination by Mr. Smith:

MR. SMITH:  Thank you.  Before getting into a few brief questions, members of the Board, I should advise that there are copies of the specific CVs for the witnesses at A1, tab 14, and those have been filed with the Board.  And at least in respect of this panel, there are no updates.

So with that, Ms. Newbury, turning to you first, I understand that you are the manager of distribution revenue for Union Gas?

MS. NEWBURY:  That is correct.

MR. SMITH:  And that is a position that you have held since 2010?

MS. NEWBURY:  Correct.

MR. SMITH:  And I understand that with a brief interregnum in 2001, you have been with Union Gas since 1994?

MS. NEWBURY:  That is correct.

MR. SMITH:  And prior to that, you were employed by Shell Canada Limited for some six years?

MS. NEWBURY:  Yes.

MR. SMITH:  Now, I understand that you have an honours bachelor of business administration from Wilfrid Laurier University?

MS. NEWBURY:  Yes.

MR. SMITH:  Which you obtained in 1988?

MS. NEWBURY:  Correct.

MR. SMITH:  And this is your first appearance testifying before the Board?

MS. NEWBURY:  Yes, it is.

MR. SMITH:  I understand that you were responsible for the preparation of evidence at C1, tab 4 relating to Union's forecast of distribution, other revenues; is that correct?

MS. NEWBURY:  Yes, it is.

MR. SMITH:  And the schedules relating to that evidence?

MS. NEWBURY:  Yes.

MR. SMITH:  And do you adopt that evidence for the purposes of testifying before the Board?

MS. NEWBURY:  Yes, I do.

MR. SMITH:  And, similarly, I understand that you were responsible for preparation of answers to interrogatories and are responsible for the answers to interrogatories asked in respect of that evidence?

MS. NEWBURY:  That is correct.

MR. SMITH:  And do you adopt those answers for the purposes of testifying here today?

MS. NEWBURY:  Yes, I do.

MR. SMITH:  Ms. Van Der Paelt, I understand that you are presently the director of sales, business markets for Union Gas Limited?

MS. VAN DER PAELT:  That's correct.

MR. SMITH:  And that is a position you have held since 2011?

MS. VAN DER PAELT:  Yes.

MR. SMITH:  And you have held positions with Union Gas of increasing responsibility since approximately 1991?

MS. VAN DER PAELT:  That's correct.

MR. SMITH:  And I understand that you are a certified general accountant?

MS. VAN DER PAELT:  I am.

MR. SMITH:  And that you have an MBA from the University of Windsor?

MS. VAN DER PAELT:  That's true.

MR. SMITH:  And a bachelor of commerce degree from that institution, as well?

MS. VAN DER PAELT:  That's correct.

MR. SMITH:  I understand that you have testified before the Board on several occasions, most recently in Union's 2003-0063 proceeding?

MS. VAN DER PAELT:  That's correct.

MR. SMITH:  And as I understand it, you are responsible or assisted in the preparation of the contract customer demand forecast?

MS. VAN DER PAELT:  Yes.

MR. SMITH:  And that can be found at Exhibit C1, tab 1 and the related schedules?

MS. VAN DER PAELT:  Yes.

MR. SMITH:  Do you adopt that evidence for the purposes of testifying here today?

MS. VAN DER PAELT:  I do.

MR. SMITH:  And, equally, I understand that you are responsible or assisted in the preparation of answers to interrogatories in respect of that evidence?

MS. VAN DER PAELT:  That's correct.

MR. SMITH:  And do you adopt that evidence for the purpose of testifying today?

MS. VAN DER PAELT:  I do.

MR. SMITH:  Finally, Mr. Gardiner, I understand that you are the manager, demand forecasts and analysis core markets?

MR. GARDINER:  Correct.

MR. SMITH:  And that is a position you have held since 1999?

MR. GARDINER:  Correct.

MR. SMITH:  And you have been with Union since 1993?

MR. GARDINER:  That's right.

MR. SMITH:  I understand that you have a master's degree in economics from McMaster University?

MR. GARDINER:  Yes.

MR. SMITH:  And you have an economics degree, honours degree, from the University of Winnipeg?

MR. GARDINER:  That is true.

MR. SMITH:  And you have equally testified before the Board on a number of occasions, as set out in your curriculum vitae?

MR. GARDINER:  That is right.

MR. SMITH:  And as I understand it, you are responsible for the preparation of the general service demand forecast?

MR. GARDINER:  Yes.

MR. SMITH:  And that evidence can be found at Exhibit C1, tab 1, and the related appendices and schedules; is that correct?

MR. GARDINER:  Yes.

MR. SMITH:  And, equally, I understand that you are responsible for the preparation of Union's evidence in respect of its proposal -- in respect of its proposal to use a 20-year declining trend weather-normalization methodology?

MR. GARDINER:  Yes.

MR. SMITH:  And do you adopt the evidence, sir, that you are responsible for, for the purposes of testifying here today?

MR. GARDINER:  I do.

MR. SMITH:  And equally, were you responsible for or did you assist in the preparation of interrogatories in respect of your evidence?

MR. GARDINER:  I did.

MR. SMITH:  And do you adopt those answers for the purpose of testifying today?

MR. GARDINER:  Yes.

MR. SMITH:  Thank you.  Members of the Board, I have no examination-in-chief for this panel, and therefore would tender them for cross-examination.

MS. HARE:  Thank you.

Has an order been arranged amongst the parties?

MR. AIKEN:  Yes, there has.  I will be going first.

MS. HARE:  Thank you.
Cross-Examination by Mr. Aiken:


MR. AIKEN:  Good morning, panel.  My name is Randy Aiken, a consultant to the London Property Management Association.

I will be referring to a compendium of materials that I filed over the weekend.  Does everybody have a copy of that?

MS. HARE:  No, we do not.

MR. AIKEN:  I did leave a number of copies with Staff.

MR. MILLAR:  Mr. Aiken, did you leave them on -- yes, we have them here.  It will be Exhibit K1.1.
EXHIBIT NO. K1.1:  LPMA CROSS-EXAMINATION COMPENDIUM.

MR. MILLAR:  This is the cross-examination compendium of LPMA.

MR. AIKEN:  I see Mr. Buonaguro has also pulled it up on the screen in front of you.

I am going to start off with the issue of the appropriate methodology to be used for forecasting degree-days.

Do you agree that the primary objective of an acceptable weather-normalization methodology is to set a weather-normal level that will best reflect what future weather is expected to be?

MR. GARDINER:  Yes.

MR. AIKEN:  Am I correct that the analysis that you did was based on heating degree-days from Pearson Airport?

MR. GARDINER:  The analysis in the evidence is done on Pearson, as well as the analysis was done for the two regional areas that we serve, the north and the south.

MR. AIKEN:  Is Pearson Airport in your franchise territory?

MR. GARDINER:  It's not in the middle of our franchise.  It's located between the two portions, and it's highly correlated, the weather data for Pearson International Airport is highly correlated with the data for the franchise areas that we serve.

MR. AIKEN:  Now, you mentioned that you did the analysis on your southern and northern service areas.

Did you file that -- excuse me.  Did you file that information in the evidence?

MR. GARDINER:  The information regarding the franchise area analysis was provided in several interrogatories.

MR. AIKEN:  Am I correct that you do have heating degree-days that come from a number of weather stations -- I believe it is 15 or 16 -- across your southern and northern service areas?

MR. GARDINER:  That is correct.

MR. AIKEN:  Is my understanding also correct that you calculate separate heating degree-days for the south and north from this data?

MR. GARDINER:  Yes.

MR. AIKEN:  How do you know that if you did the analysis on these 16 weather stations, whether you would get the same results as you have done on your north and south figures?

MR. GARDINER:  The analysis is done on the northern and southern, because the demand forecast is done -- is prepared for the rate classes that serve those two franchise areas.  And that is the reason why the analysis looks at northern and southern.

MR. AIKEN:  Now, in the response to Exhibit J.C-2-4-1, part (a) of the response -- this isn't in the compendium, but I just want to quote part of the response.

It says that:

"The southern franchise HDD data is the weighted average of the data for Windsor, Sarnia, London, Delhi, Waterloo and Hamilton.  The northern franchise HDD data is a weighted average of the data for International Falls, Thunder Bay, Sault Ste-Marie, North Bay, Sudbury, Kapuskasing, Timmins, Muskoka and Trenton."

Then it says:

"Weights are applied to the data for each station to obtain regional weather data series."

So my question is:  What are the weights that you use in the south and the north based on these 15 or 16 weather stations?  Is it customers or volumes?  Or something else?

MR. GARDINER:  Can you give me the reference?

MR. AIKEN:  Yes.  It is page 2 of Exhibit J.C-2-4-1.

MR. GARDINER:  Thank you.

MR. AIKEN:  And it is in the second paragraph to the response to part (a), and it is on the screen.

If it helps, it is an interrogatory from VECC.

MS. HARE:  Do you have it on the screen, Mr. Gardiner?

MR. GARDINER:  Yes, I have it now.  Thank you.

The weights are volumetric.

MR. AIKEN:  Would you undertake to provide the weights that were used, in other words what percent?  For example what person of the certain heating degree-days are from Windsor, London, et cetera?

MR. GARDINER:  Yes, I can.

MR. SMITH:  Yes, we will do that.

MR. MILLAR:  Undertaking J1.1.  I think it is probably clear from the record what the undertaking is, to provide the weights on a station-by-station basis.  Is that correct, Mr. Aiken?

MR. AIKEN:  Yes.  Thank you.
UNDERTAKING NO. J1.1:  TO PROVIDE percentAGE OF WEIGHTS ON A STATION-BY-STATION BASIS.

MR. AIKEN:  Now, you indicated earlier, Mr. Gardiner, that the -- that there is a higher degree of correlation between each of these weather stations and that of Pearson Airport.

Are you aware that Enbridge has three distribution areas in Ontario?

MR. GARDINER:  Yes, I am.

MR. AIKEN:  And can you describe geographically where those areas are?

MR. GARDINER:  There is the Greater Toronto Area, which we are in presently, there is the Niagara region, and there's the Ottawa region.

MR. AIKEN:  Do you believe that Union's distribution regions are equally as or more diverse weather-wise than those of Enbridge?

MR. GARDINER:  Yes.  We serve the north and the northwest, from International Falls, Thunder Bay, Wawa and a few other communities up north, North Bay, Sudbury.  Further north, we have heating degree-days in the northwest that are above 6,000 annually.

MR. AIKEN:  Are you aware that in their 2007 rates proceeding, which was EB-2006-0034, that Enbridge proposed and the Board accepted a different heating degree-day forecasting methodology for each of its three regions?

MR. GARDINER:  Yes, I am aware of that.

MR. AIKEN:  Now, in that proceeding -- and in fact in Enbridge's current rates proceeding, which is EB-2011-0354 -- Enbridge reviewed a total of nine forecasting methodologies.

And I will give you the reference for that.  It is table 1 of Exhibit C2, tab 3, schedule 1, in their filing.

I will read them for the record.  They are the naive methodology, the 10-year moving average, the 20-year moving average, the 30-year moving average, the 20-year trend, the 50/50 weighting, which is a 20-year trend and the 30-year average, de Bever methodology, de Bever with trend, and the Energy Probe methodology.

With the exception of the 30-year moving average, the 20-year trend, and weighting of the two, did Union investigate the use of any of these alternatives as part of its proposal in this proceeding?

MR. GARDINER:  The evidence before you is based on analysis of the 20-year trend versus the current blend, which we have been using since the decisions in 2007.

Given that Union Gas had examined the other methodologies back in 2004 and found the 20-year declining trend to be the superior methodology, and then given that Enbridge also went forward and analyzed the different methodologies and the 20-year declining trend was approved for the GTA region, which sets a precedent, and given that our analysis that we have done, an additional eight years of analysis since 2004, confirms the strength of the 20-year declining trend, that's why we looked at that methodology.

MR. AIKEN:  So I take it your response is, no, you didn't attempt to investigate these other methodologies that Enbridge has reviewed, two of which have been approved by the Board, other than the 20-year trend; is that correct?

MR. SMITH:  With respect, that is not an accurate summary of the witness's evidence, Mr. Aiken.

MR. AIKEN:  Then I will ask the question again.

Has Union in this proceeding investigated the other six methodologies that Enbridge has reviewed?

MR. GARDINER:  We did not look at the six that Enbridge investigated.  We recognized that in 2004 we looked at numerous methodologies.  In 2004 we got a blended methodology, which sort of indicated to Union Gas that the concept of the 20-year declining trend was a valid one.

From 2004 to 2007, the Board in its decision allowed Union Gas to increase the percentages to 55/45, and we did so.

In this rate case, we have an extra eight years since 2004.  We got to the bottom line:  Blend versus 20-year trend, which one is more accurate?  The 20-year trend.

MR. AIKEN:  So I take it from that response you did not investigate the other two methodologies that the Board approved for Enbridge in 2007?

MR. GARDINER:  I did not.

MR. AIKEN:  Okay.  Now, how did Union land on a trend methodology that used 20 years?  In other words, why not ten?  Why not 18?

MR. GARDINER:  This comes back to the work that was done for the 2004 rate case.  Mr. Steven Root, who is one of the external consultants, had advised us to look at a 20-year period.  We had examined a 30-year declining trend.

And based on the evidence -- based on the consultation, I should say, from Mr. Root, 20 years was selected.

MR. AIKEN:  So then my understanding is that you didn't investigate, as part of the methodology for this proceeding, the trend year methodology with other than 20 years of length?

MR. GARDINER:  If I may refresh my memory?

In 2004 we looked at the 20-year trend, the 30-year trend and a 20-year trend with forecast information.

MR. AIKEN:  But with your additional eight years of data, you didn't go back and look at those again?

MR. GARDINER:  No, we did not.

MR. AIKEN:  Okay.  Now, if you could turn to page 1 in the LPMA compendium, this is the graph of the northern and southern degree days for 1992 through 2011.  The data was taken from the Excel file titled "2013 Regional Data File April 2012", and specifically at the Toronto Union HDD correlations tab, that Excel file was filed in response to Exhibit J.C-2-2-1.

Now, when I look at this graph for the last 20 years of actual heating degree days, one thing jumps out to me.  There seem to be two distinct periods for both the north and the south.  The first period is 1992 through 1997.  Over these six years, the degree days are relatively stable and there does not appear to be much of a trend.

Would you agree with that?

MR. GARDINER:  I disagree.

MR. AIKEN:  Okay.  Is there a statistically significant trend between 1992 and 1997?

MR. GARDINER:  No.  I will go back to the testing methodology of the way we analyzed the different methodologies.

We actually started with data in 1985, went back to that period, and said, If we were back in that time, what would the 20 year trend be?  What would the 30-year average be?  And every year we recalculated the blend and the 20-year trend, and then we compared it to the actual.

And that's in the -- that's in the summary statistics that are in the interrogatory responses.  And, in the case of the evidence, when we used Toronto as an illustration of the concept and proof of the concept, we looked at those statistics, the route means square error, the mean percentage error, and the standard deviations, and it is that data that tells you if the 20-year trend is superior to the blend.

So it is not picking periods of time and looking at -- as Mr. Aiken is suggesting.  It is saying, Go back, get as much data as you can, estimate what the normals would be for the test year, compare it to the actual.  Do that to the present, and which one is closer?  It is the 20-year trend.

MR. AIKEN:  Okay.  I think you agreed with me that there is no statistically significant trend between 1992 and 1997; is that correct?

MR. GARDINER:  When I look at the chart, Mr. Aiken, I see that at the beginning of the period we were above 4,000 heating degree days, and, near the end of the period, in the south we're somewhere around 36, 37, and in the north we were 5,500, and then we're somewhere around 4,700.  Both are declining over time.

MR. AIKEN:  I think you are lumping in 1998.  If you look at the table at the bottom of the graph, 1997 and 1992, in the south 4,031 in 1992; 4,005 in 1997; in the north, 5,489 to 5,384.

MR. GARDINER:  Right.  But you are picking a period of time here.  Also, recall that the legacy weather normal for Union Gas is a 30-year average, so we're going back even further.  And I'm sure if we looked at those charts, you may see patterns.

The concept is not to look at patterns within certain periods of time.  It is to sort of say:  Do I go from a 30-year average to a blend or to a 20-year trend, by actually doing the calculation?  And then testing that, as I described it before.

MR. AIKEN:  Okay.  One question before we break at 11:00.  The second period is 1998 through 2011.

Now, over this 14-year period, there appears to be a larger variation from year to year than in the 1992 through 1997 period.

First, would you agree with that?

MR. GARDINER:  For the periods that you mentioned, yes.

MR. AIKEN:  And, again, do you believe that there appears to be much of a trend in the 1998 through 2011 data?

MR. GARDINER:  With any data, you can put a trend line through it.  The issue with that period of time is you only have 12, 13 years, which is a very short period.

So if you -- and that's why Mr. Root advised us to use 20.  Because if you use a short period, you will get a trend that varies a lot, so you need to go to a longer period, which is what the 20-year trend is.

MR. AIKEN:  Would you take it -- subject to check, of course -- that what trend there is in the 1998 through 2011 data is actually a positive trend for the south, but only significant at an 80 percent level of confidence?  While there is no trend in the north data, even at a 50 percent level of confidence?

[Witness panel confers]


MR. GARDINER:  The difficulty I'm having, Mr. Aiken, is you are proposing a new methodology based on a shorter time period, and that's not what Union Gas is proposing.

Right now we have a blend.  It's 55 percent 30-year average, 30 years.  And 45 percent 20-year declining trend.

We're proposing to go to straight 100 percent 20-year declining trend; 13 years is not what we're proposing.

You could attach statistics to that.  I will accept your numbers, but that is not the proposal.  It is too short a period, and we're building on the methodology that we've evolved over time from a 30-year average to a blend, and now to the true 20-year declining trend.

MR. AIKEN:  Thank you.  You might be surprised that that is not my proposal, going forward, but that might be a good place to break.

MS. HARE:  It is a good place to break, and I actually don't think that the witness answered your question, which was just simply asking about -- I am looking at the transcript, and your question was -- subject to check, and you will want to check this over the break -- 1998 through 2011, a positive trend for the south but only significant at an 80 percent confidence level.  No trend in the north.

That was the question.  It wasn't a proposal given.

But anyway, think about that over the break, and we will return at 1:00 o'clock.  Thank you.

--- Luncheon recess taken at 11:03 a.m.

--- On resuming at 1:06 p.m.

MS. HARE:  Please be seated.
Preliminary Matters:


MR. SMITH:  Just before Mr. Aiken continues, I believe Mr. Gardiner has had an opportunity to consider the request.

MS. HARE:  The question before the break?

MR. SMITH:  Yes.

MR. GARDINER:  Yes.  I looked at the data, the weather data, for the north and south for the period that Mr. Aiken indicated, '98 to 2001, and, yes, there is a slight upward trend in the south.  I got an 80 percent statistic on confidence, and there is no trend in the north.

MS. HARE:  Thank you, Mr. Aiken.

MR. AIKEN:  Thank you.

MR. WARREN:  Sorry, before Mr. Aiken continues, my client has no questions for panels 1 and 2, and, if I might be excused, I will return when panel 3 is on.

MS. HARE:  That's fine.  Do we know when panel 3 will be on?  Because the schedule will be slightly different than what you saw, unless you have been talking to Union Gas.


MR. SMITH:  No.  The schedule will be updated and I expect, based on current information, but we will confirm all of this by the end of the day, that we will have panel 3, which is the ex-franchise -- which is now our ex-franchise revenue panel coming up at some point on Thursday, based on current estimates.

MS. HARE:  Okay, thank you.

MR. WARREN:  Thank you very much.

MS. HARE:  Thank you.

MR. SMITH:  No, it won't be.  We will confirm all of this, but based on people's cross-examination estimates and because the cost allocation witnesses are all travelling -- cost of capital witnesses are all travelling, they are available only on July 16th -- the week of July 16th and so that -- in order to make use of the Board's time, we can pull the panel forward, which we will do.

MS. HARE:  And that is true of your witnesses and the intervenors' witnesses?

MR. SMITH:  We understand Dr. Booth is available.

MS. HARE:  The week of the 16th?

MR. SMITH:  Yes.

MS. HARE:  Okay.

MR. SMITH:  So that is the present intention.

MS. HARE:  Okay.  And you will send that around, e-mail end of day or early tomorrow.  We are not sitting tomorrow, so we can figure it out.

MR. SMITH:  Yes, we will do that.

MS. HARE:  Okay, thank you.

MR. WARREN:  One final thing on the schedule.  There had been some discussion about when the cost of capital panel -- when the intervenor witness would be available.  It would appear that the 19th is the ideal day, and I don't know what that does to scheduled planning, but if my friends could keep that in mind, that is the best day for him to appear.

If there is a problem with that, then we need to know that as soon as reasonably possible.

MR. SMITH:  Well, why don't I have -- why don't we have a discussion with Ms. Girvan at one of the afternoon breaks.  Given the present schedule, the morning of the 17th would work best, but we can work all of that out.

MR. WARREN:  Thank you very much.

MR. THOMPSON:  Can I just make an inquiry?  So Thursday of this week, is it gas supply or something else?

MR. SMITH:  I expect it will be -- based on current estimates of the gas supply panel, they will not be the entire day, and so we would expect to call the gas supply panel and, once they're done, to move right into the ex-franchise revenue panel and have the ex-franchise revenue panel sit whatever portion of Thursday is remaining, and Friday.

MS. HARE:  Okay, thank you.  Mr. Buonaguro?

MR. BUONAGURO:  Thank you.  Just while we're talking about scheduling, on the proposed schedule there were proposed dates for oral argument.

MS. HARE:  Yes.

MR. BUONAGURO:  I wasn't -- my understanding is that the Board hasn't specifically agreed to those dates yet.  I am sure everybody has things to do in August.  So for planning purposes, I was wondering if those dates are being accepted by the Board for Union's argument, intervenor argument, and such, and if there are problems, whether there is an option to do written argument.

MS. HARE:  We will let you know on Thursday.

MR. BUONAGURO:  Okay.

MS. HARE:  Thank you.  Anything from anybody else in terms of preliminary matters?  No.  Then, Mr. Aiken, if you could continue, please?
Continued Cross-Examination by Mr. Aiken:

MR. AIKEN:  Thank you.  
Mr. Gardiner, you mentioned the series of 20-year trend equations this morning.

When you estimated this series of equations - and I take it there are, like, 26 of them over the '85 to 2010 period - how many of them had a trend variable that was not significant at a 95 percent level of confidence?  Is that something that you would know offhand?

MR. GARDINER:  No.  It's not something I know offhand.

MR. AIKEN:  Would it be fair to say that you used the equations to forecast the degree days, even if the trend variable was not statistically significant?

MR. GARDINER:  That is correct.

MR. AIKEN:  Okay.  Now, in your evidence, am I correct that the forecast of 3,599 degree days for the south region was produced with an equation that was estimated using 1991 through 2010 data?

MR. GARDINER:  That is correct.

MR. AIKEN:  And can you tell me if this equation had a statistically significant trend variable at the 95 percent level of confidence?  I wasn't sure whether that equation was actually filed on the evidence any place.

MR. GARDINER:  If I can check some of the interrogatories, it may be there in the responses.  I'm looking.

I seem to recall that that question was asked, but bear with me.  I don't have it in the response in the interrogatories, and I'm thinking that it's in one of the Excel files.

MR. AIKEN:  Okay.  Would you undertake to identify where it is in the Excel files - that is the equation and associated regression statistics - and if it is actually not in there, would you undertake to file the equation, along with the regression statistics?

MR. SMITH:  Yes, we will do that.

MR. MILLAR:  J1.2.
UNDERTAKING NO. J1.2:  TO PROVIDE EQUATION AND REGRESSION STATISTICS FOR THE FORECAST OF 3,599 DEGREE DAYS FOR THE SOUTH REGION.

MR. AIKEN:  Did you look at adding any other explanatory variables, other than the trend variable, in the 20-year trend methodology?

MR. GARDINER:  Because the 20-year declining trend methodology is simple, and that was one of the features of developing a weather normal, there only is a time variable in the equation.

MR. AIKEN:  Okay.  Now, in your residential, commercial and industrial equations - these are the average use and the volumetric equations - you used a number of dummy variables; is that correct?

MR. GARDINER:  That is correct.

MR. AIKEN:  Can you explain why dummy variables are used?

MR. GARDINER:  Well, dummy variables can be used for two purposes.  One, if in the historical data there are observations that are real outliers, in the sense that when you look at the data they are unique and beyond the sort of cyclical pattern that you have in usage data, that is one purpose.  So you can address the fact that there was a very high level or a very low level in the monthly data series.

The other use of the structural dummy variable is if you see a step in the pattern or it could be also to deal with summer base load -- summer month consumption.

MR. AIKEN:  So your last point is that dummy variables can be used to model a structural change?

MR. GARDINER:  Correct.

MR. AIKEN:  Okay.  So then looking back at the graph on page 1 of the compendium -- and we discussed this before the lunch break, the potential break between 1992 and '97 data, and the years that follow it.

So my question is this:  Did you test the 20-year trend equation to see if a better fit could be obtained by including a dummy variable to model the structural change that may have taken place between the two periods?

MR. GARDINER:  No, I did not.

MR. AIKEN:  I'm going to describe four regression equations to you.  There are two for each of the south and north.

For each region, the first equation is estimated using 1992 through 2011 data, which apparently was used to provide the degree-day forecasts in part (h) of Exhibit J.C-2-3-2, which I believe was an Energy Probe interrogatory.  So that is the first equation.

The second equation in each region is the same as the first, with the addition of a dummy variable that has a value of 1 for 1992 through 1997, and zero for the remainder of the years.

So first of all, would you undertake to provide the standard regression statistics -- just like you filed for the volume equations -- for each of these four equations?

In other words, it is the two equations you have used to answer the Energy Probe interrogatory, and then the second two equations are one with the structural dummy variable present in them.

MR. SMITH:  Yes, we are prepared to do that.

MR. MILLAR:  J1.3.
UNDERTAKING NO. J1.3:  TO PROVIDE STANDARD REGRESSION STATISTICS FOR EACH OF FOUR EQUATIONS, AND 2013 DEGREE-DAY FORECAST FOR NORTH AND SOUTH REGIONS USING THE EQUATION WITH DUMMY VARIABLE INCLUDED.

MR. AIKEN:  Just before we get off that undertaking, would you also include in that undertaking the 2013 degree-day forecast in that undertaking for each of the north and south using the equation with the dummy variable included in it?

MR. SMITH:  Yes, we will do that, as well.

MS. HARE:  Just go back to J.1.2.  Mr. Millar, can you read me back what the undertaking was?


MR. MILLAR:  I only have an annotation here.  It was about regression statistics.  Perhaps Mr. Aiken could repeat it.

MR. AIKEN:  No, Mr. Aiken could not.  I've forgotten, as well.

MS. HARE:  Okay.  Well, that is my concern.  I am not sure we know what was the undertaking.  Does the panel understand?  It was about -- this is what I don't understand.

You filed for southern, 3,599.  The question was between 1991 and 2010, what was the equation.  But I guess what I am confused about is since 3599 is your number, you would know the equation that you used in the time frame, wouldn't you?

MR. GARDINER:  Yes.

MS. HARE:  Is that not already in the evidence?

MR. GARDINER:  I believe, Madame Chair, that it is in the Excel file, but that equation is available.

MR. AIKEN:  Yes.  And now that you have reminded me what I was talking about, it was to file the reference to where that equation is found in the evidence, and if it is not in the evidence, to file it.

MS. HARE:  Okay.  Thank you.

MS. TAYLOR:  Just to clarify, did it also include whether those -- the trend statistic was statistically significant?

MR. SMITH:  At the 95.

MS. TAYLOR:  At the 95 percent?

MR. AIKEN:  Yes.  That would be shown through the regression statistics.

MS. TAYLOR:  The complete output, then?

MR. AIKEN:  Yes, yes.

MS. TAYLOR:  Okay.

MR. AIKEN:  Okay.  You will be happy to know I am moving off the weather and going to average use now.

So could you turn to page 2 of the compendium?  This is Exhibit C, tab 1, appendix A, page 3.

I want to confirm that these normalized average consumption figures have all been normalized to the 2013 forecast of 3,599 heating degree-days in the south and 4,626 in the north; is that correct?

MR. GARDINER:  That is correct.

MR. AIKEN:  Then turning to page 3 of the compendium, are these normalized uses for 2007 through 2011 done on the same basis?

MR. GARDINER:  Yes.

MR. AIKEN:  Okay.  So in both cases, the changes are - normalized average use reflect changes to all of the factors except the weather?  That is what these tables show?

MR. GARDINER:  Those tables show the normalized average consumption over the historic period using the 2013 weather-normal.

MR. AIKEN:  So that the changes in the numbers from year to year reflect all of the changes, whatever they may be, that affect average use, except weather?

MR. GARDINER:  That is correct.

MR. AIKEN:  Okay.  Now, in the second table, the one on page 3, the residential rate M1 figure, for 2011 is 2,260 m3, and the residential rate M2 rate -- sorry, average use is 123,152 m3.

When you compare that back to the table on page 2 of the compendium, the figure for the residential rate M2 in the column for 2011 is 2,264.

Am I correct that the difference is simply based on the level of disaggregation between the two tables?  In other words, the weighted average of the residential M1 and M2 on the second table results in the residential M2 figure in the first table?

MR. GARDINER:  That is correct.

MR. AIKEN:  Okay.  Now, I tried to find the 2013 forecast for each of the columns shown in the table on page 2 of the compendium, and was able to find some of them but not others.

So the ones that I could find, the residential rate M2 forecast, based on your evidence, I believe is 2,148 m3.  And I have taken that from figure 5 of Exhibit C1, tab 1.  So I want to confirm that that is your forecast.

Similarly, the residential rate 01 forecast for 2013 is 2,160 cubic metres, and that is taken from figure 6 of Exhibit C1, tab 1.

Have I got those numbers correct?

MR. GARDINER:  Yes.  I'm looking at the Exhibit C1, tab 1, page 23.  Figure 5 is residential according to the former rate M2 class.  The 2013 number is 2,148.

And turning to page 24 of 25, figure 6 shows the residential rate 01 estimated 2013 consumption at 2,160.

MR. AIKEN:  Okay.  Now, back on Page 2 of the compendium, the next three columns are for different rate classes for commercial average use.

I could not find the forecasts for these three categories for 2013, but in that evidence you were just at, at figure 7, there is a forecast for the test year of 15,876 m3.

Is that the weighted average use of the customers in these three commercial rate classes shown?

MR. GARDINER:  Yes.  The total commercial is the consolidated commercial average usage for the M1, M2 -- those are the new rate classes in the south -- and rate 01 and rate 10.

MR. AIKEN:  And then similarly, the industrial average use, the next three columns in the table, the average use forecast in your evidence is 493,389 m3 in figure 8 of Exhibit C1, tab 1.

And again, I assume that is a weighted average of those three, three sets of customers?

MR. GARDINER:  A slight nuance.  Figure 8, because the industrial, total industrial demand equation is a volume equation, what you see in figure 8 are the total throughput volumes.  And in the response to the IR, those volumes are broken out as NACs, normalized average consumptions.

MR. AIKEN:  Yes, but the 493,389 is a NAC derived that way.

MR. GARDINER:  Right.  It is derived from the total; it is a total demand equation volume, all four rate classes, industrial rate classes.  There's -– well, I --there's the two in the south, M1 and M2.  Then there are two rate 10 categories, the banner build and the large industrial build.

MR. AIKEN:  I was going to ask you what the "CIA" stood for.

MR. GARDINER:  That is the new name for large industrial build.  Yeah.

MR. AIKEN:  Okay.  Now, do you know what the forecasts are for 2013 for each of the commercial and industrial rates shown in this table on page 2 of the compendium?  And if not, could you undertake to provide those forecasts?

MR. GARDINER:  On page 3 of your compendium, for forecast 2013, you have all the rate class and service class NACs.

So, for example, industrial rate M1 has an estimated normalized consumption of 14,808.

MR. AIKEN:  Okay.  But then that industrial rate 1, plus the industrial rate M2, would give me the weighted figure of the industrial rate M2 on page 2 of the compendium?

MR. GARDINER:  Correct.

MR. AIKEN:  Let me simplify it.  Can you provide, then, the 2013 forecast for the commercial old rate M2 and the industrial rate M2 consistent with how they're shown on page 2 of the compendium?  The others I think, as you pointed out, are there, on page 3.

MR. GARDINER:  Just a moment.

MR. SOMMERVILLE:  Why wouldn't you just add 14,808 and 257?  Isn't that the forecast for M1 and M2 industrial?

MR. AIKEN:  Well, if you do add them, you would get 270,000, but that wouldn't be an average use.

MR. GARDINER:  If I refer you to J.C -- the interrogatory response to J.C-1-2-1, attachment 1, if you look at the last column on the right, "total weather normalized throughput", you will see on the bottom four rows the volumes, 58,679, 345,706, and so on, and if you add those up you get the 493,389 total volume for the industrial class.

Then that one, divided by the number of customers for the total industrials, would give you the NAC.

MR. AIKEN:  Okay.

MS. TAYLOR:  Sorry.  Just for my edification, I would like you to complete the table on the compendium, page 2 of 16, breaking it out by old.  So under commercial, if you could please file old rate M2, rate 01 and rate 10 for commercial individually and industrial rate M2, rate 10 and rate CIA 10 individually so we don't have to go through and derive numbers from six different tables?

I think this format should be complete and accessible, please.

MR. AIKEN:  Apparently Ms. Taylor does not trust my math skills to calculate it.

MS. TAYLOR:  No, I don't trust my own.

[Laughter]

MR. SMITH:  Either way, we are perfectly happy to do it.

MR. MILLAR:  That will be Undertaking J1.4.
UNDERTAKING NO. J1.4:  TO PROVIDE 2013 FORECAST FOR COMMERCIAL OLD RATE M2 AND THE INDUSTRIAL RATE M2 CONSISTENT WITH TABLE ON PAGE 2 OF LPMA COMPENDIUM.

MR. AIKEN:  So if you could now turn to page 4 of the compendium, what I have done here is tried to replicate the 2013 forecast for the residential old rate M2 class.  I have taken the regression coefficients and the forecasted values for the explanatory variables from the spreadsheet you provided in the response to one of the interrogatories, and you can see at the bottom of the right-hand column I end up with a 2013 forecast of 2,193 cubic metres.

So, first of all, do you accept this figure, subject to check?

MR. GARDINER:  I accept this figure.  It is one of the -- it is the usage -- the econometric estimate for the usage equation.

MR. AIKEN:  Yes, okay.  Now, this forecast, 2,193, is significantly higher than the figure of 2,148 m3 that you are using in figure 5 of the evidence.

So other than the fact that you average it with a volumetric equation, what is the difference between these two figures, the 2,148 and 2,193?

MR. GARDINER:  As you stated, this is one part of the two-equation average econometric estimate, and then when we get that average of the volume equation, NAC estimate, and the usage equation, we apply the cumulative DSM impact of the DSM program for the period 2011 to 2013, which brings us to the 244 number.

MR. AIKEN:  Sorry, the which number?

MR. GARDINER:  For example, on page 3 of 16 in your compendium, residential rate M1 has a number of 2,144.  And that plus -- you know, the old M2 is plus or minus two cubic metres from that number, Mr. Aiken.  But the reason you get to a 2,140 number and not the 2,193 is we have averaged the two, and then we add -- we apply the DSM NAC impact, which accumulates over time.

MR. AIKEN:  Okay.  So that was going to be my next question, is:  What is the forecasted impact -- I guess you said for 2011 through 2013.  What is the cumulative impact on the residential average use of DSM?

MR. GARDINER:  I think I found it, a response to an IR.  It is about 18 cubic metres.

MR. AIKEN:  Was that in an IR, or...

MR. GARDINER:  Again, I'm thinking it is in the Excel file where we outline that.

MR. AIKEN:  That's fine, then.  Do either of the residential use equations - in other words, M2 and 01 - explicitly take into account DSM savings over the historical period that the equations were estimated?

MR. GARDINER:  The use equations take the reported actual consumption, and, with the econometric, we project out the estimate for the year.

The DSM programs are incremental.  These are new programs and they aim at new unserved energy efficiency opportunities.  So that's why we apply the DSM impact, because they're incremental and they're new.

MR. AIKEN:  Yes, I understand that.  I guess my question was more along the line:  The volumes you are modelling -- in actual use you're modelling obviously reflect the impacts of DSM, but you don't have an explicit explanatory variable in the equation to try and measure that impact of DSM?

MR. GARDINER:  No.  There is not a specific historic DSM variable in the equations.

MR. AIKEN:  And the same is true for the commercial equations?

MR. GARDINER:  That is true.

MR. AIKEN:  Would you agree that the impact of DSM is reflected in the forecast generated by the equations - and I am talking about the historical DSM, not the incremental - because the estimated coefficients of the variables that are in the equation implicitly reflect the impact of DSM volume reductions?

In other words, the impact on the degree days is going to be driven, in part, by the DSM volume reductions?

MR. GARDINER:  The residential equations have the furnace energy efficiency variable, which accounts for declining use.

The -- that index which is used to account for the declining use would be picking up some of that DSM impact.

MR. AIKEN:  Yes.  And that would measure the specific -- this takes me back, because I created the original furnace efficiency index for Union many years ago.

But it would not reflect things like weatherization and insulation and new windows, other DSM-related measures?

MR. GARDINER:  Well, not specifically.  But Mr. Aiken, I did look at your original methodology.

[Laughter]


MR. AIKEN:  And remember, this is more than 20 years ago.

MR. GARDINER:  I agree.  I think I have it with me.

[Laughter]


MR. GARDINER:  But because it is an index -- and it is partly non-linear, but that is not the point.  Even with the linear trend, you would get some multicollinearity with the fact that DSM is occurring in the history along with the other non-DSM energy.

So this variable would pick up both.  Okay?

MR. AIKEN:  Okay.  The evidence at page 15 of Exhibit C1, tab 1 indicates that the historic bill amounts used for 2013 for the residential-use equations are based on the Board-approved delivery and gas supply commodity rates effective January 1st, 2011.

Do you agree that the rates are significantly lower today than they were in January of 2011?

MR. GARDINER:  They have gone down and they have gone up a bit, yes.

MR. AIKEN:  Would you undertake to provide the annual cost, using the -- I believe you used the 2011 NAC -- the annual cost to a typical residential customer using January 2011 data -- which I believe you used for your forecast -- and then what the annual costs would be for that same customer, say, using the same amount of gas, but based on your current July 1st, 2012 rates?

MR. GARDINER:  I may have that information with me.

MR. SMITH:  While Mr. Gardiner is looking for that, perhaps I could ask Mr. Aiken to restate the question, because I am not 100 percent sure I got it.

MR. AIKEN:  To provide the annual cost, so it's the total bill for a typical residential customer based on his 2011 normalized average consumption, using January 2011 prices as Union has done in their evidence, and then the same figure using the July 1st, 2012 rates that are currently in place.

Mr. Buonaguro reminds me I should specify that would be for a system gas customer.

MR. GARDINER:  Yes.  I know I have that.

MR. SMITH:  We're going to be on over the break.  We could find it at the break, if that is of assistance.

MR. AIKEN:  That's fine.

MR. GARDINER:  I found it.

MR. SMITH:  There you go.

MS. HARE:  Well, okay.  That's good, because I was going to ask Mr. Aiken how this relates to the decision the Board has to make, but if you've got it, that's fine.

MR. GARDINER:  I found it.  Thank you for bearing with me.  Okay.

In the 2013 evidence, the total bill amount for a rate M1 customer was $862.

The most recent amount, June 2012, is $732.

And for the north, it is 985 and 913.

MR. AIKEN:  Thank you.  And those are explanatory variables in your residential-use equations?

MR. GARDINER:  Yes, they are.

MR. AIKEN:  So the lower annual use would drive annual consumption higher, or higher cost drives it down?

MR. GARDINER:  The lower the bill, increased consumption.

MR. AIKEN:  Okay.  Now, finally, if we go back to page 3 of the compendium, the total NAC shown at the bottom of the table declines from 3,975 m3 in 2007 to 3,830 m3 in 2011, which is an average annual decline of about 0.9 percent per year.  So -- subject to check, of course.

But then the decline in 2013 is the 3,610 m3 from the actual level of 3,830 in 2011, and this represents an annual decline in the bridge and test years of 2.9 percent per year.

Can you explain this more than tripling of the projected decline from that actually experienced over the 2007 to 2011 period?  In particular, how much of that accelerated decline would be due to incremental DSM, for example?

MR. GARDINER:  Okay.  Part of it is the incremental DSM.

Also, 2012 is a leap year, so there is an extra day, and that increases consumption.

MR. AIKEN:  That would actually work the opposite way, though, wouldn't it?

MR. GARDINER:  Well, when you go from '11 to '12, you have a little bit more consumption in '12, and then you lose it when you go to '13.

MR. AIKEN:  But it disappears from the analysis if you look at it from 2011 to 2013, which is the 2.9 percent per year average decline that I gave you.


MR. GARDINER:  Okay.  That's correct.  All right.  But there is the DSM; the DSM is part of the reduction, two years of DSM.

MR. AIKEN:  Then finally, two questions on the number of general service customers, maybe three.

What is the latest month for which you could provide the actual number of general service customers in 2012?

MR. GARDINER:  June.

MR. AIKEN:  Could you provide -- you may have it in front of you, but could you provide the actual number of general service customers, then, for June 2012, and what the corresponding forecast was for June of 2012?  Just in aggregate, all of the general service customers, rate classes?

MR. GARDINER:  As I am looking for the chart, the table, since the forecast was prepared last year, we have been tracking below forecast.

Ah, found it.  The actual number total bill customers at June 2012 is 1,366,306.

The bridge year estimate for June 2012 is 1,366,705.  The difference, a negative difference of 399.  This difference, since the forecast was prepared in early 2011, has averaged a negative 1,058.

MR. AIKEN:  So then with respect to the accuracy of the forecast, I think I know the answer to this question, but which tends to be more accurate, the forecast of the total number of customers or the forecast of total volumes?

MR. GARDINER:  I'm sorry, Mr. Aiken, can you repeat that?

MR. AIKEN:  Yes.  With respect to the accuracy the forecast, which tends to be more accurate, the forecast of the total number of customers or the forecast of total volumes?

MR. GARDINER:  From a percent variation, the customer forecast, in total bill customers, is more accurate than volumes.

MR. AIKEN:  And can you briefly explain why that is the case?

MR. GARDINER:  Because the total customer base is like 1.3 million customers and we're adding new accounts, new customers, for sake of discussion say 18,000, and the variation is on the 18,000, because it is an estimate:  How many new customers are we going to have?

So if you are out by 1,000 customers on 18, that is like 5 percent, but on the base of 1.3 million, it is a tiny little fraction.

MR. AIKEN:  Okay, thank you.  Those are my questions.
MS. HARE:  Thank you.  Who is next in the order?  Oh, Mr. Wolnik.

Cross-Examination by Mr. Wolnik:

MR. WOLNIK:  Yes, I think I am next.  Panel, I am John Wolnik.  I represent the Association of Power Producers of Ontario.  I think I am familiar to all of you.

I want to focus today on the contract revenue side.  So, Ms. Van Der Paelt, I think this is primarily your evidence that is found in C1, tab 2, section 4.

I think -- I thought I heard Mr. Smith say that your evidence was C1, tab 1.  I may be mistaken, though, but it is C1, tab 2; right?

MS. VAN DER PAELT:  That's correct.  It is C1, tab 2.

MR. WOLNIK:  And in that evidence, you generally show a decline in throughput volumes between 2011 and 2013; is that right?

MS. VAN DER PAELT:  Generally, yes.

MR. WOLNIK:  And a related decline in associated revenue with those volumes; is that right?

MS. VAN DER PAELT:  Generally, yes.

MR. WOLNIK:  So what I want to do is really explore the reasons for those declines in the evidence.  That is really just to let you know where I am headed.

So, first, can you describe the nature and the type of power customers that you have in your -- I guess in both franchise areas, both the north and the south?

MS. VAN DER PAELT:  Our power customers are combined between customers who are northern utility generators, who have 20-year contracts, with the Ontario Power Authority and are self-dispatchable.

We have other customers who are large peak-shaver type units, which are called on at the discretion of the IESO.  We have some customers who have their own co-generation facilities on site.

MR. WOLNIK:  Okay, thank you.  Can you tell me how they contract for services on your system?  What are the services they use?

MS. VAN DER PAELT:  They typically have a distribution contract, which would speak to their contract demand, as well as their requirements in terms of fuel supply.

They also, depending where they're located, may contract for high deliverability storage.  As well, they may contract for additional market-based storage.  They may contract for M12 transportation if they are outside of the southern area.

Some of them will have an interruptible service, which would be a rate 25.  So it really depends on where they're located.

MR. WOLNIK:  So talking about the non -- the high deliverability storage and the market-based storage, I think you said, those are typically non-utility services; is that right?

MS. VAN DER PAELT:  That's right.

MR. WOLNIK:  They're not part of this forecast?

MS. VAN DER PAELT:  That's right.

MR. WOLNIK:  Okay, good.

And these customers that have -- the rates -- the rate categories that they use would be, in the north, rate 100, rate 20; is that right?

MS. VAN DER PAELT:  And rate 25.

MR. WOLNIK:  Yes.  The first two would be sort of contract demand.  There would be a contract demand associated with that, and they pay demand charges?

MS. VAN DER PAELT:  That's correct.

MR. WOLNIK:  And the rate 25 is an interruptible rate; is that right?

MS. VAN DER PAELT:  Rate 25 is interruptible.  It is actually a little bit different than the south.  It is called on when the customer needs it versus Union interpreting it.

MR. WOLNIK:  Okay.  And do you provide the commodity with that, or without?  Is it either way?

MS. VAN DER PAELT:  It is either way.  Most customers provide their own commodity.

MR. WOLNIK:  Thank you.  In the south, T1 is the predominant service that generators use; is that right?

MS. VAN DER PAELT:  That would be correct.

MR. WOLNIK:  Thank you.  That is also a demand charge based product?

MS. VAN DER PAELT:  That's correct.

MR. WOLNIK:  Then there is also a commodity charge associated with all of those services; right?

MS. VAN DER PAELT:  That's right.

MR. WOLNIK:  Okay.  So can you describe how you actually formulate your forecast for power customers?

MS. VAN DER PAELT:  So for our power customers, it really depends on which rate class they're in and how long they have been on the system.

For our northern utility generators and most of our southern customers, who have been with us quite a long time, we do look at their three-year historic average.  We then take the historical data, as well as what the average would produce to the customer, and ask them if this is equivalent to where they think they will be operating in the year coming up.

So recall that we would have done this in May of 2011 asking them how they were going to operate in 2013 for this point.

Then for the really large power customers who are pure peak shavers, we actually directly go to them with the historicals and ask them for their input.  There is not as much data on some of them, so we ask them if they're going -- what services they think they're going to be using, and it really comes around to what is their monthly volume that they will be using.

MR. WOLNIK:  So did I understand you said you actually took data from 2007?

MS. VAN DER PAELT:  It would be three years.  So it would be -- for 2013, we would have looked at '9, '10 and 2011.  2011 would have been a partial year in that.

MR. WOLNIK:  So a little bit dated information, then?

MS. VAN DER PAELT:  Right.  But in terms of making the filing, yes.

MR. WOLNIK:  Thank you.  Do you ever take into account the IESO forecast for -- take that into account in your forecasts?

MS. VAN DER PAELT:  No, we don't.

MR. WOLNIK:  Okay.  You are aware that the IESO is the provincial company that is responsible for coming up with aggregated forecasts of power demand?

MS. VAN DER PAELT:  Yes, I am.

MR. WOLNIK:  So why wouldn't you take that into account?

MS. VAN DER PAELT:  The IESO forecast looks at the total forecast on an 18-month outlook.  It doesn't necessarily go by what fuel source they're going to be dispatching at that point in time, and it doesn't differentiate between sort of what could be base and what could be a peak load.  Most of our customers are peak.

MR. WOLNIK:  Would you think, if it shows an increasing demand in the province, that that might be a factor you would take into account?  Might it be important in your forecast?

MS. VAN DER PAELT:  Well, it would depend where we are in terms of our current generation.  Currently our base load generation fleet is above what we need as a base load.

So increasing the base may just say that your base generation fleet is going to run more.  It may not reflect what the natural gas plants are going to do.

So it really would depend on where the fleet is.  We would go to the customers and ask them, because they're the ones dealing with the IESO and how they're going to be dispatched, and ask them what their input is in terms of if this has any impact on their forecast.

MR. WOLNIK:  So where they sit in the fleet would be important.  If there was declining -- if there was other declining power generation types, that would be a factor you would also take into account?

MS. VAN DER PAELT:  What would be important is to how they're dispatched by the IESO, yeah.

MR. WOLNIK:  Okay.  So your point is an increasing demand in the province is not an important issue to take into account?

MS. VAN DER PAELT:  No.  My point is an increased demand in the province doesn't reflect an increase in demand in natural gas generation.

MR. WOLNIK:  Your point is you have to take into account other generation and where it sits in the stack?

MS. VAN DER PAELT:  That's correct, and the other production that is being put into service, such as wind and others.

MR. WOLNIK:  So if there was other declining forms of generation, there could be more gas-fired generation, or if there was increasing generation below that, there could be less?  Is that fair?

MS. VAN DER PAELT:  It could be more or less, yes.

MR. WOLNIK:  Okay, thank you.

MS. HARE:  Can I just interrupt for a second, because in your response to Mr. Wolnik, you made it clear.  You said, for large customers that have been with Union for a long time, you look at the last three years.

What if somebody -- what do you do when somebody hasn't been with you three years?

MS. VAN DER PAELT:  So, Madam Chair, it is the mid-size customers who have been with us the longer time.

MS. HARE:  Yes.  The question really is you said they have been with you for a long time.

MS. VAN DER PAELT:  Those who have relatively new, we go to them and talk to them about -- we go to all of our customers, but we don't have any historical numbers to take to them to say, This is what your trend has looked.  So we actually look to them to say, What do you think your monthly consumption is going to look like?

MS. HARE:  Thank you.

MR. WOLNIK:  Thank you.

What I would like to do now is turn to IR J.C-3-13-1.  I think it is up on the screen here.

In here, I sort of asked for a variety of information about the -- I will give you a second to pull that up.  Have you got that?

MS. VAN DER PAELT:  I have it.

MR. WOLNIK:  Thanks.  So there is a variety of questions that I asked you in here, just to help understand the nature of the fleet within your franchise area.

In response (a) -- or in question (a), first of all, I asked for each year from 2007 to 2013, and within each applicable rate class, show the aggregate amount of gas-fired generation capacity in megawatts, identified by dispatchable and base load, or self-dispatching.

And you gave some examples of the NUGs or the CHPs, which is combined heat and power, right?

And in the first table in the response itself, you actually go through and -- for each of the rate categories.  So rate 100, we can see that the self or base load generation is constant at 637 megawatts throughout that entire period; correct?

MS. VAN DER PAELT:  That's correct.

MR. WOLNIK:  And there is no dispatchable generation in that rate 100?

MS. VAN DER PAELT:  No, there isn't.

MR. WOLNIK:  If we go down to rate 20, another rate category in the north, there is 110 megawatts of base load generation?

MS. VAN DER PAELT:  That's correct.

MR. WOLNIK:  And no dispatchable generation in that, in there?

MS. VAN DER PAELT:  Mm-hmm.

MR. WOLNIK:  Okay.  Thank you.

Can we turn for a minute to J.C-1-16-2?  I will come back to this chart, so just kind of keep your finger in your binder there.  So J.C-1-16-2.

This was an IR from BOMA, talking about the Thunder Bay generating station.  This is a coal plant that is being converted to run on natural gas; is that right?

MS. VAN DER PAELT:  That's correct.

MR. WOLNIK:  And this would be a -- this is a 300-megawatt plant that will become a dispatchable gas-fired plant; is that right?

MS. VAN DER PAELT:  That's correct.

MR. WOLNIK:  Do you have a contract with OPG, which is the owner, to serve that plant?

MS. VAN DER PAELT:  Yes, we do.

MR. WOLNIK:  And you are proposing to build facilities, I think, in 2013?  You filed an application, I think, to that effect?

MS. VAN DER PAELT:  That's correct.

MR. WOLNIK:  And if I look at the IR, it looks like you are forecasting in 2013 5,000 10-3 M3 for 2013; is that right?

MS. VAN DER PAELT:  Yes.  That would be commissioning volumes.

MR. WOLNIK:  So when we go back to the prior interrogatory response, there was no volume shown there within that rate -- I think they're rate 20; is that right?

MS. VAN DER PAELT:  That's correct.

MR. WOLNIK:  So there is no dispatchable volume in there.  Can you just comment on that?

MS. VAN DER PAELT:  In terms of the megawatt capacity?  So you are referring to (a) in your response?

MR. WOLNIK:  We don't have any dispatchable megawatt capacity in that line, even though you are showing volumes.


MS. VAN DER PAELT:  That's correct.

MR. WOLNIK:  Okay.  And the reason is you said they're commissioning volumes?

MS. VAN DER PAELT:  It was commissioning.  So to be clear, they're a 300-megawatt plant.  So in this chart it would be 300 megawatts, and we would see them sort of fully part of the fleet for January, 1, 2014.

MR. WOLNIK:  They would come on full --


MS. VAN DER PAELT:  Yes.  The expectation.

MR. WOLNIK:  The line at full contract volumes come January 1st, 2014?

MS. VAN DER PAELT:  That's correct.

MR. WOLNIK:  Okay.  And do you know what the CD is for that plant, the contract demand?

MS. VAN DER PAELT:  No, I don't have that with me.

MR. WOLNIK:  If I said it was 1.88 million cubic metres per day, does that sound about right?

MS. VAN DER PAELT:  Subject to check, it sounds in the ballpark.

MR. WOLNIK:  Okay.  The associated revenue for that would be about $2.8 million a year?  Is that about right?

MS. VAN DER PAELT:  I would have to confirm that, Mr. Wolnik.

MR. WOLNIK:  Perhaps you could do that.

MR. SMITH:  Yes, we will do that.

MS. HARE:  Give that an undertaking number.

MR. MILLAR:  J1.5.
UNDERTAKING NO. J1.5:  TO ADVISE ASSOCIATED REVENUE FOR CONTRACT DEMAND AT THUNDER BAY GENERATION PLANT

MR. WOLNIK:  So this is a contract that is signed.  You are building facilities this year, but -- and you are commissioning this year and you're providing volumes this year, but this forecast excludes the CD volumes and includes all the associated revenue, I think as you said.

So my next question really goes to kind of the next year, I guess, 2014.

MS. VAN DER PAELT:  Actually, maybe I could just clarify that, Mr. Wolnik.

So there are two months of revenue, I believe, in our base forecast.  So there is some rate 25, which would be the interruptible commissioning portions, in the revenue forecast, and then the volumes associated with that, as well, for the November and December time frame of 2013.

MR. WOLNIK:  Okay.  Thanks.  Your revenue forecast here, if approved, that would form the base of an IRM that you probably will file for 2014; is that right?

MR. SMITH:  Well, I am not sure that this witness panel is in -- well, I will let Ms. Van Der Paelt answer the question.

MS. VAN DER PAELT:  I am not sure, actually, what our process is for IRM at this point, Mr. Wolnik.

MR. WOLNIK:  Well, let me ask you this question, then.

Given the significant revenue associated with this contract, of $2.8 million a year, and recognizing that you are only requesting approval for 2013 revenue requirement, but given that this could be a base for an IRM, do you have any concerns about this Board -- would you agree to use the additional revenue associated with OPG, the $2.8 million, as a base revenue for 2014, if you go to an IRM?

MR. SMITH:  Well, I don't think that that is an appropriate question for the witness.

Union has answered an interrogatory, indicating that the subsequent application will be a matter of, obviously, considerable discussion at Union Gas.

So I am not sure that we are in a position to advise or not, but certainly if, in that subsequent proceeding -- cost of service or IRM -- if additional revenues associated with activity in 2014 should be included, APPrO will have the opportunity to make whatever submission in that proceeding it wants to make.

MS. HARE:  Yes, the Panel agrees with that.

MR. WOLNIK:  Okay.  Thank you.  So just going back to J.C-3-13-1, we also have rate 25 base load and dispatchable, and that is constant throughout the time frame; correct?  2,130 megawatts?  So that hasn't changed over the time frame?

MS. VAN DER PAELT:  That's correct.

MR. WOLNIK:  And looking at the T1 volumes, we've got 185 megawatts of base load generation throughout this 2007 to 2013 time frame?

MS. VAN DER PAELT:  That's right.

MR. WOLNIK:  And then when we look at the next category, the dispatchable, we see an increase from 2007 through to 2013 up to -- it's been constant since 2009, I believe, at 2,494 megawatts?

MS. VAN DER PAELT:  Yes.

MR. WOLNIK:  Okay.  And over the page, on page 2, looking -- and (b), I guess response (b) goes to question - we had asked for the aggregate demand, contract demand volumes for gas-fired generation, and also the aggregate MAVs for power generation.

And in (b)(i), you provide the aggregate contracted demand, and we see that, for rate 100, that's been constant throughout, again, constant throughout that period; there is no change in contract demand levels?

MS. VAN DER PAELT:  That's correct.

MR. WOLNIK:  For rate 100, the same thing?

MS. VAN DER PAELT:  I'm sorry, I thought that was rate 100, but...

MR. WOLNIK:  I'm sorry, rate 20.

MS. VAN DER PAELT:  Yes, that's correct.

MR. WOLNIK:  Pardon me.  And rate 25, we recognize this is more of an interruptible rate, but that is constant, as well?

MS. VAN DER PAELT:  For the CD?  Yes.

MR. WOLNIK:  T1, this has been increasing up from 2007 to 2009, reaching 13,424, and that has been constant since 2009.  There has been no change?

MS. VAN DER PAELT:  That's correct.

MR. WOLNIK:  The second, (b)(ii), talks about the firm and interruptible MAVs?

MS. VAN DER PAELT:  Yes.

MR. WOLNIK:  For rate 100, again, that has been constant throughout the time frame?

MS. VAN DER PAELT:  Yes.

MR. WOLNIK:  No MAV for rate 20, and I suspect it may be included in the rate 125; is that right?

MS. VAN DER PAELT:  I don't think the rate 20 contract actually has an MAV on these, but I would have to check that.

MR. WOLNIK:  Okay.  So the rate 25 customers -– and they have a MAV that is, again, constant; there is no change?

MS. VAN DER PAELT:  That's right.

MR. WOLNIK:  And the T1 customers, these have been increasing through time and have peaked, again, in 2009's?

MS. VAN DER PAELT:  That's correct.

MR. WOLNIK:  So the MAVs have been either constant or increasing.  Okay.

And the next category talks about the -- (c), the question goes to providing a list of the coal-fired plants in each of Union's south and north, and showing your operative generating capacity during this time frame.

And it has been constant up until 2011.  We can see that Lambton looks like they reduced their coal-fired generating capacity by almost 1,000 megawatts in 2011, further in 2012, as did Nanticoke reduce their generating capacity through time.

So between 2011, 2013, there was 2,800 megawatts, roughly, of reduction in coal-fired capacity?

MS. VAN DER PAELT:  That is correct.

MR. WOLNIK:  And between 2010 and 2011, there was roughly another 1,000 megawatts of reduced capacity?

MS. VAN DER PAELT:  Yes.

MR. WOLNIK:  Okay.  And this coal-fired generation capacity, is it your understanding that this was referred to as a mid-merit generating capacity that would come online after base load generation?

MS. VAN DER PAELT:  That would be -- yeah, that would be a correct -- a fair assessment.

MR. WOLNIK:  And part of the reason for the gas-fired plants to be constructed in the first place was to replace part of its capacity as part of the province's overall objective of getting off coal by 2014; is that right?

MS. VAN DER PAELT:  That was the reason Thunder Bay was converted, yes.

MR. WOLNIK:  My question was a little bit broader.  I understand that, but all of the coal plants would be shut down by 2014; is that right?

MS. VAN DER PAELT:  Right.  But we don't have a ministerial directive suggesting the other two will be converted to gas at this point in time.

MR. WOLNIK:  I wasn't necessarily talking about conversion to gas.  I am just talking about off coal.

MS. VAN DER PAELT:  There is definitely an off-coal strategy in the province, yes.

MR. WOLNIK:  So some of the gas plants or all of the gas plants were built in the last few years to replace that coal-generating capability?

MS. VAN DER PAELT:  The destruction of demand, I think as evidenced on the IESO website, would also suggest that you didn't even need this capacity to be replaced at this point in time, because demands are much lower than what the peaks were sort of two, three years ago.

MR. WOLNIK:  Can you provide more detail on that?  What do you mean?

MS. VAN DER PAELT:  Well, if you go to the IESO website and look at our peak demands, you know, in 2006 and 2007 and what we had in terms of a fleet that would be used in order to deliver that electricity supply, and then you look at the peak demands now, you could actually take fleets out of service and still meet your daily demands.

MR. WOLNIK:  Right.  So you could take some of the most inefficient units out, but you still have an aggregate amount of energy that needs to be produced, whether it be from gas or coal?

MS. VAN DER PAELT:  Gas or coal or hydro, yes.

MR. WOLNIK:  Right, okay.  Thanks.  Can I take you to your evidence now, C1, tab 2, page 7?

MS. TAYLOR:  Sorry, before we leave that particular slide, will you be addressing in your cross the effect on gas demand of intermittent generation?

MR. WOLNIK:  Probably, yes.  I mean, I'll probably do it from a slightly different angle, but if you have questions on that, feel free to --


MS. TAYLOR:  Well, I was somewhat taken by surprise with your answer, given the fact that the fuel mix in the province has changed and we have significant intermittent resources, which also have certain implications for the use of highly responsive generation assets, with the closure of the coal, that that role will then fall to gas.

It doesn't seem to be entering the psyche for potential gas use generally, or specifically to those plants in your service area, which is somewhat curious.

So if you are going to address it in your cross, I will drop this now.

MR. WOLNIK:  No, go ahead.

MS. TAYLOR:  Otherwise, perhaps you can answer how the answer you just gave stands, in view of the fact the fuel mix has changed and involves other resources.

MS. VAN DER PAELT:  So in the time frame that we have here, which is up to 2013, because there's been such a demand destruction, although there has been intermittent -- like, wind has come on and other things, we haven't seen a big impact on the gas fleet.  It is really in the period from 2015 to 2019 that is uncertain as to what that will look like.

MS. TAYLOR:  Okay.

MS. VAN DER PAELT:  So the effect hasn't been realized at this point in time.

MS. TAYLOR:  Okay.

MR. WOLNIK:  So looking at your evidence, table 1, and just focussing on line 1, which is the power generation volumes, again, we see -- look comparing 2011 throughput volumes to 2013.  We're seeing a decline from 2,464 106 m3 to 2,189 106 m3, or about 11 percent.

MS. VAN DER PAELT:  Correct.

MR. WOLNIK:  And I noticed that this excludes MAV volumes; is that right?  There is a footnote here that says that, so...

MS. VAN DER PAELT:  That would be correct.

MR. WOLNIK:  Can you just tell me, MAV is more of a billing issue, right, that additional charge kicks in if the particular customer doesn't use the MAV volume; is that right?

MS. VAN DER PAELT:  Right.  If a customer doesn't consume a minimum annual volume in the contract, there is a true-up to the amount that the minimum annual volume would have generated.

MR. WOLNIK:  That would be done at the end of the year, would it?

MS. VAN DER PAELT:  At the end of the contract cycle.

MR. WOLNIK:  If there was an additional charge, it would show up.  Even though there may be an increase in sort of deemed volume used, that wouldn't show up as an actual -- as part of the actual consumption?  It would just be an additional charge?

MS. VAN DER PAELT:  It would just be -- right.  The volumes would be what they are on an actual basis, and the charge would be the revenue achieved.

MR. WOLNIK:  Do you know if you have had to render those charges through this time frame to any of the power customers?

MS. VAN DER PAELT:  I don't know, John.  Sorry, Mr. Wolnik.

MR. WOLNIK:  Okay.  You talked about the Thunder Bay volumes of 5,000, 106 m3.  Are they in this forecast?

MS. VAN DER PAELT:  The commissioning volumes would be in the forecast, and the revenue associated with November and December.

MR. WOLNIK:  So the 2,189 includes that 5,000?

MS. VAN DER PAELT:  Yes, it would.

MR. WOLNIK:  Okay.  Can we go to J.C-3-2-2, the second page, the lower table there?  This looks at the 2013 forecast compared to 2011 actuals.  You show here by these various categories a reduction in volume.

I just want to focus on the volumes for now, just a reduction in the volumes by category.  So I am just trying to understand this reduced forecast in light of -- we have talked about this 2,800 -- sorry, there is one issue we didn't talk about.  It is sort of highlighted in this table.

Let's just chat about that first.  That is the Lennox plant.  You did talk about peakers, and I appreciate that Lennox may be a bit of a unique generating facility where - that would be one of the peakers; right?

MS. VAN DER PAELT:  That's correct.

MR. WOLNIK:  And that has used a lot of gas in the past, but you are forecasting no consumption there basically for 2012; is that right?

MS. VAN DER PAELT:  There is just a minimal base load consumption.

MR. WOLNIK:  Okay.  And the reason is, presumably, it has one of the highest heat rates, is that right, within the gas fleet?

MS. VAN DER PAELT:  That's right.

MR. WOLNIK:  The heat rate is really a measure of sort of the inverse -- it is an inverse efficiency index; right?  The higher the heat rate, the less efficient it is?

MS. VAN DER PAELT:  It is one of the more expensive units to dispatch.

MR. SOMMERVILLE:  Some of the newer units, the CES units, for instance, or combined cycle, they would have a much lower heat rate and so they would be dispatched first, most likely?

MS. VAN DER PAELT:  There are a lot of things that go into the IESO's determination of dispatch, but if you were just looking at heat rate, they would be first, the newer ones.

MR. WOLNIK:  Thanks.  So then just kind of looking at that table again, then, so we have talked about the 2,800 megawatts of less coal.  Lennox, you are forecasting virtually very little consumption there.

We have talked about the contract demand volumes all staying the same and the MAVs for all plants staying the same.

So can you just sort of describe and explain, by these various categories, why you are seeing a reduction in these -- in the consumption by category?

MS. VAN DER PAELT:  Just a question for you, Mr. Wolnik.  So we're focussing on 2013; correct?

MR. WOLNIK:  Right.

MS. VAN DER PAELT:  Okay.  So there are several things that are driving the decline in volumes on the power market.

Probably some of the larger ones would be that Lennox is forecasted at a lower number, based on the input provided from Lennox.

We have production at several of the NUGs that were forecasted offset by a few that were increasing.  And the NUGs in themselves, along with one of the southern generators, is about a million reduction of the volume.

When you have a decline in volume, there is an associated decline in customer-supplied fuel.  That would be about another 1.2 million of the revenue in that number is the decline in customer-supplied fuel.

MR. WOLNIK:  When you say customer-supplied fuel, how does that impact this volume forecast?

MS. VAN DER PAELT:  Well, your customer-supplied fuel is a function of your volume throughput.

MR. WOLNIK:  So you require the customer to deliver a certain percentage of the throughput on a daily basis?

MS. VAN DER PAELT:  So customer-supplied fuel, in order to calculate the fuel ratio on Union Gas's system, we have to look at all of the volumes that are moved through the system, both Union-supplied fuel volumes and customer-supplied, so all of the volumes together, in order to establish what is total throughput and what is an appropriate fuel ratio.

To do this, we look at the customers who have contracted to supply their own fuel, and we have to commoditize that, along with the Union-supplied fuel, in order to come out with a fuel ratio and equivalent revenue point.

So it is built in as a revenue line item in the contract market forecast, and there is an offset in the cost of gas.

MR. WOLNIK:  So roughly what is your fuel percentage?  I don't need precise numbers.  Is it one percent, two percent, five, 0.2?

MS. VAN DER PAELT:  Roughly half a percent.

MR. WOLNIK:  Half a percent?  So if I am a customer in the north and I deliver more gas on TransCanada, so I would deliver 100.5 percent of whatever my requirements are, and I would consume 100 percent, that would be -- the difference would go to Union, then.

So how and why do you convert that into a revenue?

MS. VAN DER PAELT:  Well, this is the fuel on Union's system, not on TransCanada's system.  So this is the fuel used to move gas along Union's pipelines.

And in order to establish a fuel ratio, you have to look at the total throughput, and the only way to do that is to commoditize the fuel that is provided, in order to come up with what is an appropriate ratio.

So this is about sort of the level of my expertise on fuel ratio calculations, but I can assure you that the revenue associated with customer-supplied fuel, the equivalent revenue is embedded in the forecast and the offset is in cost of gas.

MR. WOLNIK:  So if I am a northern customer in -- someplace in one of the northern communities, North Bay, and if I have a power plant and I deliver gas off the TransCanada system into your distribution area, you would need the fuel for your franchise system.  I understand that.  But you don't have compressors on your distribution network; is that right?

MS. VAN DER PAELT:  Right.  This fuel would be associated with the southern side of our portfolio.

MR. WOLNIK:  Okay.  So -- but my example was for a northern customer.

MS. VAN DER PAELT:  Right.  So the question we had in terms of where the variances were -- back to the IR response -- in those total variances, a portion of that, about a million of the 3.26, a million two, is related to customer-supplied fuel, which would be in the south.

MR. WOLNIK:  So first focussing on the north, though, the northern NUGs?

MS. VAN DER PAELT:  The northern NUGs, the reduction on the NUGs?

MR. WOLNIK:  Again, I'm just focussing on volume.

MS. VAN DER PAELT:  Yes.

MR. WOLNIK:  I think we had a kind of –- the side discussion is really dealing with why you attach some sort of revenue associated with that.  I'm --


MS. VAN DER PAELT:  No, there is no fuel impact on the northern NUGs.  The northern NUG is actually a MAV reduction, for one customer who has changed their forecast, which is reflected due to lower production forecast.  So it is a contractual change.

MR. WOLNIK:  Let's kind of go back to J.C-3-13-1, then, because we -- I spent a fair bit of time going through that, because you don't show a change in MAVs.

MS. VAN DER PAELT:  You are correct.  I will have to go back and verify this.

MR. WOLNIK:  Okay.

MR. MILLAR:  Is that an undertaking?

MR. SMITH:  Yes, we will do that.

MR. MILLAR:  J1.6.  Can we just have a clear recitation of what the undertaking is for?

MR. WOLNIK:  I guess to reconcile the -- I guess the change in volume due to MAV reductions, compared to the J.C-3-13-1 that shows no reduction.

UNDERTAKING NO. J1.6:  TO RECONCILE CHANGE IN VOLUME DUE TO MAV REDUCTIONS COMPARED TO J.C-3-13-1 THAT SHOWS NO REDUCTION.

MS. VAN DER PAELT:  Would it be volume or revenue?

MR. WOLNIK:  We're just talking volume here.  That's all.

MR. MILLAR:  Thank you.

MR. WOLNIK:  We will talk about revenue -- I'm sorry, we are talking revenue.  Pardon me.

MS. VAN DER PAELT:  You -– yeah, I thought it was a revenue question.

MR. WOLNIK:  Yes, yes.  MAV is revenue, not volume.

Going down the list here, again, so NUGs, the 105.6, 10-6 m3 reduction and the related $0.25 million of revenue, can you explain -- what are the reasons that reduction of 105.6, 10-6?

MS. VAN DER PAELT:  So that reduction would be based on the forecast that the customer has provided.

So as I mentioned earlier with the NUGs, we look at a three-year historical average, and we take those to the customers and compare that to what they believe will be occurring in the upcoming forecast year.

So when you look at the three-year average, some customers -- four of them we actually saw a decrease in terms of their average, and three of them we saw an increase, and the offset is that difference of 105.

MR. WOLNIK:  So is this their forecast or is this your forecast?

MS. VAN DER PAELT:  No, we prepare the forecast and take it to the customer, then get the customer's input on that, and then have them agree or disagree and make changes to it as they see fit.

MR. WOLNIK:  How do you think the customers, then, take into account this 2,800 megawatts of reduced coal-fired generation and the fact that you are forecasting Lennox to be zero?  Do you think they take that into account?

MS. VAN DER PAELT:  I am not sure what they do, John – sorry, Mr. Wolnik.

MR. WOLNIK:  So do you modify at all?  Do you look at the whole picture after you get them all in and say:  You know what?  Given that we've got this decision to drop out 2,800 megawatts of coal, given that we now know that OPG is telling us that they're going to consume zero at Lennox, maybe, maybe we should boost up these other forecasts?

MS. VAN DER PAELT:  Well, we look at what the customer tells us that they believe is their forecast, because it is really in the customer's self-interest to have an appropriate forecast.

Should they think they're going to consume higher volumes, that would result in an increased contract demand and an increased charge, but they would then not have interruptible or overrun rates.

If they thought they were going to consume less, it would reduce -- reduce their charges.

So the customers have a self-interest in making sure their forecast is an accurate representation of what they believe they will use.

MR. WOLNIK:  Again, going back to J.C-3-13-1, I don't see any change to the contract demand level.  That's what you have told us.

MS. VAN DER PAELT:  But this is -- these volumes may not have affected their contract demands.

MR. WOLNIK:  So these are just commodity-based.  So these would be whether they dispatched more or less on the basis of their existing CD?

MS. VAN DER PAELT:  That is what the customers told us, based on what they thought they would be consuming, yes.

MR. WOLNIK:  So I go back to my original question, then.  So how do you think the customers take into account the fact there has been a reduction of 2,800 megawatts of less coal, and the feedback you've got from OPG on Lennox not running?

MS. VAN DER PAELT:  I am not privy to how the customers establish their volumetric forecasts.  We take in their historical; they then provide input as to whether they think it is reasonable or not, but I am not sure what they then use as their filters.

MR. WOLNIK:  So you don't know if they have taken that into account or not?

MS. VAN DER PAELT:  I do not.

MR. WOLNIK:  Thank you.  Okay.  Let's go back to your evidence again, J.C-1, tab 2, page 7, again now looking at the revenue forecast.  This would be table 2.  Again, sticking to line 1, which is strictly the power forecast.  So --


MS. VAN DER PAELT:  Sorry, Mr. Wolnik, I didn't hear your last comment.

MR. WOLNIK:  I'm sorry.  Just moving to your evidence, C1, tab 2, page 7, table 2 on that page 7.  Again, just sticking strictly to line 1, which is the power forecast.

What we see here is we see a constant increase in revenue from 2007 through to 2011, and then a reduction for the last couple of years, 2012 and 2013, right?

MS. VAN DER PAELT:  Correct.

MR. WOLNIK:  And these revenues come from both the demand charges collected and the commodity charges; is that right?

MS. VAN DER PAELT:  Correct.

MR. WOLNIK:  Okay.  And the demand charges are payable regardless of the consumption?

MS. VAN DER PAELT:  That's correct.

MR. WOLNIK:  And if the consumption is too low, the MAVs kick in?

MS. VAN DER PAELT:  If there is an MAV on the contract, yes.

MR. WOLNIK:  Do most of them have a MAV?

MS. VAN DER PAELT:  No.  Not all contracts have a MAV.

MR. WOLNIK:  Other than rate 20 -- I think you shared that with us earlier -- other than rate 20, do they all have MAVs?

MS. VAN DER PAELT:  No, they don't all have MAVs.

MR. WOLNIK:  Okay.  So this decline from 2011 to 2013 is about 10 percent, roughly?  That is my math.  I don't know whether you would agree with that or not.  Which is about $3.2 million?

MS. VAN DER PAELT:  Correct.

MR. WOLNIK:  Okay.  So let's now go to Undertaking JT1.1 for a minute.

This was some information that you shared from the technical conference.  Do you have that?  JT1.1.  Modern technology has it up on the screen now.

MS. VAN DER PAELT:  We have it up.  Thank you.

MR. WOLNIK:  I just want to make sure I understand what this represents.  So this was -- we were trying to get an understanding of what proportion the commodity represented the total revenue.  You have shown that in the bottom line.

So here's -- originally it was 32 percent and now we are down to in the 13 percent range.  I wanted to talk a little bit about the information above that.  So you show total power revenue for each of the years, and you show the total power commodity.

So is it fair to say that the difference between those two represents the demand charges payable?

MS. VAN DER PAELT:  That would be fair.

MR. WOLNIK:  Okay.  So if you trust my math, in 2011 - in fact, I can read all - I have the demand charges for 2011 at $27.8 million.  Does that sound about right?

MS. VAN DER PAELT:  The demand charges for?

MR. WOLNIK:  2011.  So this would be the total power revenue of 32.7 minus the commodity of 4.9.

MS. VAN DER PAELT:  Yes, that looks right.

MR. WOLNIK:  If I do the same thing for 2013, I get $25.6 million.

MS. VAN DER PAELT:  That's correct.

MR. WOLNIK:  Okay.  So there is a reduction of about $2.2 million in demand charges payable between 2011 and 2013.

So, again, going back to J.C-3-13-1, in table -- sorry, (b)(ii), so this is page 2, again, we see here is that there is no change in the contract demand through this time frame.  I am trying to square -- we've got no change in the contract demand, but a $2.2 million reduction in demand charges collected.

MS. VAN DER PAELT:  So I just need to correct one statement I made there, Mr. Wolnik.

The total revenue includes the demand charge, as well as the customer-supplied fuel, as well as some storage revenue.  So it's not just demand charge in the total number, and then the commodity would be the variable portion of the commodity rate.

MR. WOLNIK:  Just give that to me again.  The demand charges is the --


MS. VAN DER PAELT:  There would be a demand charge portion.  There would be the customer-supplied fuel that is included in that portion.  There would be storage charges -


MR. WOLNIK:  Okay.

MS. VAN DER PAELT:  -- as part of the in-franchise storage.  So it would be a collection.  It wouldn't just be the CD, related demand charge.

MR. WOLNIK:  So the three components.  The difference between the first line of total revenue and total commodity would be the actual demand charges payable, the fuel and the storage.

So has storage changed much in the last two years?

MS. VAN DER PAELT:  Storage has changed by $200,000.

MR. WOLNIK:  Fuel?

MS. VAN DER PAELT:  Fuel has changed by $1.2 million.

MR. WOLNIK:  And the demand charges?

MS. VAN DER PAELT:  Demand charges have not changed.

MR. WOLNIK:  So fuel was $1.2 million.  Storage was how much?

MS. VAN DER PAELT:  Storage was point-two.

MR. WOLNIK:  So I get $1.4 million, and yet there is a reduction of $2.2 million?

MS. VAN DER PAELT:  Overrun would also make up about point-seven.

MR. WOLNIK:  So that is part of this?  Overrun charges are part of this, as well?

MS. VAN DER PAELT:  Yes.  It is the total revenue from the power market.

MR. WOLNIK:  Sorry.  I'm just talking about the difference between the revenue line and the commodity line.

MS. VAN DER PAELT:  That's right.  In the total power revenue would be the demand, the commodity, the storage, the overrun and the customer-supplied fuel.

MR. WOLNIK:  So the overrun is not a commodity charge?

MS. VAN DER PAELT:  That's right.  It is not in the commodity charge, no.

MR. WOLNIK:  Why would that be shown as a demand charge, then?  Help me, because --


MS. VAN DER PAELT:  It says total power revenue.  It actually doesn't say total demand charge.

MR. WOLNIK:  No, I agree.  So the total in the demand component, I guess, so what we've kind of referred to as the difference, I guess I'm trying to understand why that wouldn't be in the commodity side.

MS. VAN DER PAELT:  The commodity would purely refer to the commodity rates as per the rate schedule.  The overrun would have been calculated and billed out as a separate charge.  So we don't classify it as a commodity charge.  It is a separate rate.

MR. WOLNIK:  How much was the overrun?

MS. VAN DER PAELT:  The overrun was point-seven.

MR. WOLNIK:  Point-seven, okay.  So that still leaves a difference -- if I add all of those up, that would be, that's...  What do you get when you add it up?  Let me ask you.  I still see a difference there.

MS. VAN DER PAELT:  This is between 2011 and 2013, so we have -- I have a million in commodity.  So it's showing up as a million in commodity, so that's there, and then the remainder would be 2.3 million.  So there is -- I think under the customer-supplied fuel, there is probably some other smaller miscellaneous things.  Those would be the big ones, though.

MR. WOLNIK:  So looking at -- that's going back to -- hang on a second.  Maybe just in terms of those calculations you had, could you actually -- for each of the years 2010 through 2013, actually provide the proportions that are -- that represent fuel, storage and overrun?

MR. SMITH:  Yes, we can do that.  Well, sorry, for how many years are we talking about?

MR. WOLNIK:  I think I said from 2010, that's all.

MR. MILLAR:  J1.7.
UNDERTAKING NO. J1.7:  TO PROVIDE REPRESENTING FUEL, STORAGE AND OVERRUN FOR THE YEARS 2010 THROUGH TO 2013 AS REFERENCED IN J.C-3-13-1, TABLE (B)(II).

MR. SMITH:  We will do that.

MR. WOLNIK:  And this fuel, again, just a question on the fuel, this is customer-supplied fuel; is that right?

MS. VAN DER PAELT:  Right.

MR. WOLNIK:  So you show it as a revenue?

MS. VAN DER PAELT:  Right.  And there is an offset in cost of gas.

MR. WOLNIK:  But the customer doesn't buy the gas from you, so how does he get the offset?

MS. VAN DER PAELT:  That is going beyond my expertise.

MR. WOLNIK:  Well, could you undertake to provide that as well, then, to seek to demonstrate where the offset is for the fuel charges.

MR. SMITH:  Rather than provide another undertaking, we will either have the finance panel or -- this has historically been a series of questions put to the rate design witness.  So we will have either the finance panel or the rate design witness address it.

MS. HARE:  Sorry, sir?

MR. SMITH:  For the calculation of the fuel ratio.  As I understand it my friend is directing his question to the calculation of the fuel ratio.

And I am just simply volunteering, rather than prepare another undertaking, we can have the finance witness or the rate design witness ready to deal with that.

MS. HARE:  Okay, that's fine.  Mr. Wolnik, will you be here for both panels, since this is somewhat vague as to whether it is one or the other?

MR. WOLNIK:  Not the finance, but I will be here for the rate design.

MR. SMITH:  We will deal with it with rate design.  We will do whatever accommodates Mr. Wolnik's schedule.

MS. TAYLOR:  I want to clarify.  I am not sure it is necessarily the fuel ratio.  It is the issue of creating a revenue with an offsetting cost that falls to a different bucket.  So there seems to be a misalignment of revenues versus costs, which I don't think is an issue of construction of the fuel ratio, solely.  Is it still appropriate to address it with the finance panel?

MR. SMITH:  No.  I think it would be more appropriate to deal with it through the rate design panel.

MS. HARE:  And that is where Mr. Wolnik indicated he would be here.

MS. TAYLOR:  Okay.

MR. WOLNIK:  I guess what we may ask for is perhaps, when the rate design panel does come up, probably a more detailed explanation of why it has to be commoditized and how the credit comes back to the customer.

MR. SMITH:  Yes, that's fine.

MR. WOLNIK:  Thank you.  You talked about overrun revenue, and I want to talk a little bit about interruptible revenue and overrun.  So if we could go to JT1.8?

MS. VAN DER PAELT:  We have it.

MR. WOLNIK:  It appears here that there is a significant decline in interruptible revenues; is that right?

MS. VAN DER PAELT:  That's correct.

MR. WOLNIK:  If we were to look at 2011 to 2013, can you just comment on the decline there?

MS. VAN DER PAELT:  As evidenced on the schedule, the decline is really attributable to Lennox.

MR. WOLNIK:  And you don't think there is going to be an increase in other generating capacity coming online, the more efficient units, such as Halton Hills or some of these other dispatchable units, in order to make up for Lennox?

MS. VAN DER PAELT:  So in the framework in the time frame here to 2013, and based on what the customers have told us, no.

MR. WOLNIK:  But, again, this is your forecast, not the customer; right?

MS. VAN DER PAELT:  So the CES projects where Halton Hills is captured is a direct reflection of what they have told us specifically in terms of their expectations on volumes; the same with Lennox.

MR. WOLNIK:  You don't know if they knew Lennox was not going to be running next year?

MS. VAN DER PAELT:  I do not know if they knew that.

MR. WOLNIK:  So now that you know they're not going to be running, do you think this is still the right forecast?

MS. VAN DER PAELT:  I believe that this is the best information I have at this point in time.

MR. WOLNIK:  Okay.  Can we now move to overrun volumes?  And you talked -- we talked several times in the past about overrun volumes, and I just wanted to clarify something, and I wanted to clarify it, maybe, first of all, as it relates to those CES customers or power plants that are T1 customers that have a billing contract demand.

It is my understanding that as a result of the NGEIR proceeding, Union offers customers with a load over 1.2 million cubic metres a day the option to use a billing contract demand; is that right?

MS. VAN DER PAELT:  That's correct.

MR. WOLNIK:  And this billing contract demand, or BCD, comes into play if the economics of using the traditional contract demand results in a profitability index greater than one?

MS. VAN DER PAELT:  That's right.

MR. WOLNIK:  So as a result of that, the billing contract demand can be reduced so that the PI is equal to one; is that right?

MS. VAN DER PAELT:  The billing contract demand is set to a PI equal of one.

MR. WOLNIK:  Right.  So looking at an example -- and I picked Halton Hills because that is the last one you applied for in 2008-0024 -- in this situation, the peak hourly load was 145,000 m3.  Now, you probably wouldn't remember that, but you are welcome to take that subject to check.

MS. VAN DER PAELT:  That's fine.

MR. WOLNIK:  Okay.  And this is a critical contract parameter, right?  Because they can't add another unit, they can't expand without that peak hourly load increasing, or peak hourly contract demand increasing -- sorry, peak hours, not a contract demand.  I mean, the peak hour cannot exceed 145,000?

MS. VAN DER PAELT:  That's what the facility is designed for.

MR. WOLNIK:  Right.  And the billing contract demand in this case was 1.305 million cubic metres a day?  Sound about right?

MS. VAN DER PAELT:  Sounds about right.

MR. WOLNIK:  Okay.  And so with this 1.3 million cubic metres, Union's T1 standard charges apply to that first level, right?  That 1.3 million?

MS. VAN DER PAELT:  That's correct.

MR. WOLNIK:  Then to the extent that any day -- I'm sorry, and up to that level, on any day that they take up to 1.3 million cubic metres, the normal commodity charge applies?

MS. VAN DER PAELT:  That's correct.

MR. WOLNIK:  Okay.  And on any day Halton Hills exceeds that particular 1.3 million, the overrun charge would kick into play; is that right?

MS. VAN DER PAELT:  That's right.

MR. WOLNIK:  The current commodity charge that I checked on your rates was 0.1127 cents per cubic metre, based on your current tariff, and the overrun rate is 0.8521 cents per cubic metre?  Does that sound about right?

MS. VAN DER PAELT:  Subject to check, yes.

MR. WOLNIK:  Okay.  So the ratio there is about seven and a half times.  So if they get above this level, they pay seven and a half times the commodity rate as the overrun charge, right?

MS. VAN DER PAELT:  That's right.

MR. WOLNIK:  And just to get an idea of when this would kick in, if I divide the 1.3 million cubic metres by the 145,000 cubic metres per hour, it appears that after about nine hours, the overrun -- in any day, the overrun rate would kick in?

MS. VAN DER PAELT:  I believe the information I have it is after 12 hours, but I would –- I haven't got all of the numbers in front of me, Mr. Wolnik.

MR. WOLNIK:  Well, if you believe the numbers I just provided, if you do the math, it works out to be nine.  But perhaps you could confirm that?

MR. SMITH:  I guess I'm wondering to what end.

MR. WOLNIK:  Well, I think the commodity -- well, Union has not forecasted any overrun charges in their revenue forecast.  So I want to -- I think it is important that the record be clear, given that they're not forecasting any overrun revenue.  So I want to make sure that for this particular plant in this example, that we understand the operating conditions, when the overrun charge would kick in.

MS. HARE:  Just to get a sense for whether this is material or not, do you know what the overrun charges have been in the last few years?

MS. VAN DER PAELT:  So the plant's been in operation two years, so we don't have a lot of history.  I believe it was filed in one of the IR responses, so subject to looking, it was approximately 300,000 in 2010, and 600,000 in 2011.

MS. HARE:  All right.  And so Mr. Wolnik's point is that for 2013 you haven't included anything.

MS. VAN DER PAELT:  That's right.  And -- based on what the customer has told us, yes.

MS. HARE:  Okay.  So, Mr. Wolnik, your question was --


MR. WOLNIK:  Well, when --


MS. HARE:  -- understanding the parameters of when the overrun kicks in?

MR. WOLNIK:  Right.

MS. HARE:  Can you give us that?

MS. VAN DER PAELT:  So Mr. Wolnik has stated it correctly, that if the customer exceeds -- so again, subject to checking the contract numbers, because I don't have that contract in front of me, if the customer runs more than the days that are already included in their fixed charges - and my understanding was it was about 12 hours - then they would move into the overrun charges.

So we look at their monthly volume that they forecast, look at the days in the month, and at no time do they exceed the hours, take that back to the customer to confirm they don't believe they're going to exceed the hours and ends up in an unauthorized overrun, which we did at several in-person meetings, and they confirmed they did not feel they would have authorized overruns.

MS. HARE:  But you just told me they had 300,000 and 600,000 in 2010 and 2011 --


MS. VAN DER PAELT:  They did on a historic –-

MS. HARE:  -- so why would you assume, when they tell told you they wouldn't have any, that they wouldn't?

MS. VAN DER PAELT:  We have always with the large customers used a customer–built-up forecast.  There's been a lot of focus historically to ensure that the customer's voice was heard in setting their forecast and that it was appropriate.

So that is the manner that we have used to set the top 60 contract customers.

MS. HARE:  Mr. Wolnik?

MR. WOLNIK:  I think it is important, given they're forecasting zero, that we understand the point in time, the number of hours a day that -- when it would start to kick in.

MR. SMITH:  We can verify whether it is at the nine-hour mark or the 12-hour mark.  We're happy to do that.

MS. HARE:  Yes.  That would be helpful.

MR. WOLNIK:  Thank you.

MR. MILLAR:  J1.8.
UNDERTAKING NO. J1.8:  TO CONFIRM START TIME OF OVERRUN CHARGES

MR. WOLNIK:  Could you also tell me the amount of overrun revenue that Halton Hills would have collected -- or you would have collected from Halton Hills in 2012, year-to-date?

MS. VAN DER PAELT:  2012-year to date, so end of June, we collected $300,000.

MR. WOLNIK:  And you are still forecasting zero for 2013?

MS. VAN DER PAELT:  Yes, we are.

MR. WOLNIK:  Thank you.

MS. TAYLOR:  Just one other quick question before we leave this point.

The overrun numbers include more than one plant, and we're only talking about this one as an example; is that correct?

MS. VAN DER PAELT:  This is the only plant under this contract.

MS. TAYLOR:  Okay.  Thank you.

MR. WOLNIK:  Do you collect overrun revenue from other plants, as well?

MS. VAN DER PAELT:  If they exceed the parameters, but to be clear for the Board Panel, that this is -- in the item that we consider authorized overrun has been discussed here, it is one plant.  There is only one customer in this service category right now.

MS. TAYLOR:  So the follow-on question is the authorized -- or the overrun services that you collect revenue from, where is that occurring for these other facilities?

MS. VAN DER PAELT:  On the other facilities, we don't have a lot of authorized overrun.  We have interruptible services, if they use the rate 25 service, would be the equivalent in the north.

So it is just a different rate and a different service, depending on the territory.

MR. SMITH:  I wonder, Madam Chair, if I just might inquire as to the Board's intentions with respect to a break this afternoon.

MS. HARE:  I was just about to ask Mr. Wolnik how long he is going to be.

MR. WOLNIK:  I have one final question as soon as you are done.

MS. HARE:  Okay.

MR. WOLNIK:  Just, again, to summarize here, looking at your evidence there is a $3.2 million decline in forecasted revenue for 2013 over 2011.

Are you aware that the overall rate impact for rates 20, 25 and 100 as a result of your application is that these rates are increasing by 43 percent, 43 percent and 29 percent respectively?

MS. VAN DER PAELT:  I am aware of what the averages are, as per our evidence, yes.

MR. WOLNIK:  And do you think this $3.2 million reduction in throughput forecast is a major contributing factor to those increases?

MS. VAN DER PAELT:  I don't know what percentage of an impact this has on the rates.

MR. WOLNIK:  Do you think it is major?

MS. VAN DER PAELT:  I don't know what percentage it is.

MR. WOLNIK:  Well, is it significant?

MS. VAN DER PAELT:  I don't think it is, but that would be my personal opinion.

MR. WOLNIK:  Okay, thank you.  Those are my questions.

MS. HARE:  Thank you.  Mr. Quinn?

MR. QUINN:  If I may -- Madam Chair, thank you.  I said I would have 15 minutes of questions.  I think I might have three minutes of questions in this topic of overrun, if I could conclude from Mr. Wolnik.

MS. HARE:  If you would like to go next, and then we will take our break.

MR. QUINN:  Yes.

MS. HARE:  Okay, please proceed.
Cross-Examination by Mr. Quinn:

MR. QUINN:  I had collaborated with Mr. Wolnik over the weekend, actually, in terms of this area.  I knew his knowledge was greater than mine.  So he has covered off almost all of our questions.  I just want to get a point of clarification.

I think the undertaking that Ms. Van Der Paelt was looking for was our undertaking -- sorry, our interrogatory J.C-3-10-1, and would you have that in front of you, by chance, Ms. Van Der Paelt?

MS. VAN DER PAELT:  Thank you.  I do.

MR. QUINN:  Okay, thank you.  I guess you had just provided to the end of June upwards of $300,000 of overrun for 2012 to this point.

When we had the question asked originally, we asked for 2010 and 2011.  Would you take it, subject to check, that the plant that paid for that overrun in 2010 went into operation September 1st, 2010?

MS. VAN DER PAELT:  I believe that plant went into operation in 2009.

MR. QUINN:  Well, if you would check?  Our source is the Ontario Power Authority website, but if you have better information than that, if you could let us know?  But what we're looking at is -- are we looking, in 2010, a full year's worth of overrun revenue, or is that a partial year?

And it is just helpful to understand the trend in overrun as Mr. Wolnik was discussing with you.

MS. HARE:  I think Mr. Quinn is asking you to double-check over the break or over the next couple of days when the plant came into operation.

MS. VAN DER PAELT:  Over the break, I can confirm when it came into service.

MS. HARE:  Thank you.

MR. QUINN:  Those are my questions.  Thank you very much.

MS. HARE:  Okay, thank you.  We will take a 20-minute break, returning after ten after 3:00.  Sorry, sorry.  Just to give you an idea of our schedule, we will be breaking every day at 4:30.  So we will be starting 9:30 and breaking at 4:30.


MR. SMITH:  Thank you.


--- Recess taken at 2:50 p.m.

--- On resuming at 3:20 p.m.

MS. HARE:  Please be seated.

Okay.  Who is next?  Mr. Brett?

MR. BRETT:  Thank you, Madam Chair.
Cross-Examination by Mr. Brett:

MR. BRETT:  Members of the Panel.  Well, panel, I have some questions initially on the 20-year declining trend, and then some questions on the commercial sector of the general service revenue forecast, and finally some questions on the contract customer part of the general -- contract revenue group.

So starting off with the -- just a quick bit of history, as I understand it, Mr. Gardiner, prior to 2004, Union had a 30-year average life method, right?

MR. GARDINER:  That is correct.

MR. BRETT:  In the decision of the Board in 2003-0063 (sic) -- that was in 2003 -- the Board considered this issue of weather-normalization methodology, and they decided -- they found that -- and I quote here from page 23 of the decision:

"In order to test the suitability of changing the normalization methodology, and in consideration of the principle of minimizing rate shock, the Board will allow Union, for 2004, to forecast HDDs based on a 70:30 weighting of the 30-year average forecast and the 20-year trend forecast respectively.  For each year thereafter, the Board will consider 5% declines and inclines to the weighting of the 30 year and 20 year methodology respectively until such time as a 50:50 weighting is in place."

Are you familiar with that decision?

MR. GARDINER:  Yes.

MR. BRETT:  And then what happened next, as I understand it, is in the settlement agreement for the last rebasing case -- that would be the 2005 case, for 2007 rates -- there was an item in the settlement agreement dealing with this, and it was item 2.2.  And the issue was:   Is Union correctly implementing the Board's directive for a blended weather-normalization methodology, you know, from the 2003 decision?

And the settlement basically said the parties accept that Union's proposal to establish the test year weather-normalization on the basis of a blend of 55 percent-45 percent is in accordance with the 2003 decision; right?

MR. GARDINER:  That is correct.

MR. BRETT:  Do you recall that?  And that would have been the logical -- that would have been -- the 55-45 would be what you got if you followed the -0063 decision into that year, 2007, right?

MR. GARDINER:  Yes.

MR. BRETT:  And then it stayed at 55-45 throughout the term of the IRM.  I take it -- I don't see anything about that, but I take it that was because parties felt and the Board felt that the -- that this was not a matter that you would change in the course of an IRM proceeding.  It would be something that would be -- since it was a major shift in the structure of the ratemaking, it would await a further cost of service case; is that fair?

MR. GARDINER:  When Union made its proposal in 2007 rate case, the 55-45 was the normal.

And that was in the proposal.

MR. BRETT:  Okay.  Now, so the logical next step in some ways would be to go to a 50-50, would it not?

MR. GARDINER:  In the current rate case, having looked at the weather bias that is present in the blended normal that we currently have, and redoing the analysis that we did in 2004 and seeing that the 20-year trend is more accurate, that was what we asked for in this current rebasing case.

MR. BRETT:  Okay.  Could I ask you to turn up an IR J.C-2-2-1?  This is one you discussed this morning, part of this, with Mr. Aiken.  It is one of Mr. Aiken's IRs.

I want to discuss a different part of it with you, but I would like you to turn up that IR J.C-2-2-1 on page 3.  Okay?

MR. GARDINER:  Yes.  I have it before me, yes.

MR. BRETT:  Okay.  Now, as I read this, these are actual -- as I understand this, table 2 here on page 3 gives the actual degree-days for each year from 1985 to 2011 inclusive, in the first column; is that right?

MR. GARDINER:  The actuals are in the first column.  That is correct.

MR. BRETT:  That's for -- this is -- just as an aside, this is a residential customer?

MR. GARDINER:  No.  These are heating degree-days.

MR. BRETT:  Oh, I'm sorry.  Okay.  It's too late in the afternoon.  I apologize.

Okay.  So that's in column 1, and then if you look over at columns 2 and 3 -- 2, 3 and 4, you see the -- you see what the forecast of degree-days would have been had you employed these other three different methods, the 30-year average, the 20-year trend -- which is what you are proposing -- and the 55-45 blend, which is the current method.

So you are getting -- what you are getting there is, as I understand it, what those -– what the forecast of numbers for each of those years, the actuals for which are in column 1, would have been had you used those three forecasting methods; is that right?

MR. GARDINER:  That is correct.

MR. BRETT:  Okay.  Now, what I would like you to do is to focus on columns 3 and 4, which is the 20-year trend, column 3, which Union is proposing and the 55-45 blend, the currently approved method.

If you will -- I would like you to compare, and I am going to compare it for you and give you a chance to react to it, but I want to compare, on the one hand, the 20-year trend number for each year to the actual, and on the other hand, the 55-45 number -- that is to say the forecast derived from using the current plan -- with the actual.

And if I do that, what I find is that the forecasted degree-days -- this is going from the years 1985 to 2011, so I make that to be 26 years.  I could be out one, but I think it is 26 years of actual data.  And what I get from this is that the -- that using the 55-45 blend and comparing it with the 20-year trend and then comparing each of those to the actuals, the 53-45 blend was closer to the actual number in 14 of the 26 years that are covered by the 20-year trend.

Would you agree with that, subject to check?

MR. GARDINER:  Subject to check, yes.

MR. BRETT:  Okay.  So that the -- so that basically if you compare that with what you have stated below, below you say in section (c), little (c):

"Please note that the 20-year declining trend produces weather normal estimates that in most years are closest to the actual weather.  This is especially true in 2011."

But that isn't the case, really, is it, from what I have just shown you?  It isn't the case that in most years the 20, 20 trend is closer to the actual than the 55-45; it is the other way around, subject to check?

MR. GARDINER:  Okay.  Subject to check.

Mr. Brett, two charts I would like to bring to your attention.  One is in the evidence, Exhibit C1, tab 5, page 3 of 7.

MR. BRETT:  So this is your --


MR. GARDINER:  Weather evidence.

MR. BRETT:  Yes, right.  Well, I will... Okay, let me just turn that up.  I am going to come to that.  That is on page what?

MR. GARDINER:  Three of 7.

MR. BRETT:  Yeah.  I have those charts, yeah.

MR. GARDINER:  Then the other one is on -- it was a response to Mr. Aiken on J.C-2-2-1, page 7.

MR. BRETT:  Right, all right.

MR. GARDINER:  And at the top, there is the chart that shows the normal heating degree day comparison that we have been talking about.  And the first chart has the comparison, and you can see that the small dashed blue line, those are your actuals.

The red line that goes through the path of those actuals is the 20-year trend, and the black line above that is the 55-45 blend.  And the analysis indicates that when we prepared the weather evidence with a three-year lag, which is what is on page 3 of 7, you can see that the 20-year trend goes through the -- more through the middle of the data than does the 55-45.  Yes, it does touch 14 points, but those were cold years.

If you go to the response on J.C-2-2-1, there we've gone to a two-year lag, because now -- this was part of the response for updating with the 2011 actuals.

And a similar situation is presented.  The 20-year trend does go through the path of the actuals more in the centre than the current blend.

MR. BRETT:  Okay.  I have studied those charts, but I reiterate -- well, let me go on to a second point.

I was speaking, when I talked about closest -- which years were the 55-45 blend closer to the actual?  I take it that that goes to the overall accuracy of the analysis of the 55-45 blend.

You have also raised and your evidence raises the issue of symmetry, what you call symmetry.  And in that connection, I want to take you back to my table or Mr. Aiken's table that he has asked for, J.C-2-2-1.

What I would like to suggest to you, again, subject to check, that if you look at -- and this is the second test I applied.  If you look at whether or not -- you looked at the 20-year trend and the 55-45 blend and you looked to see in how many cases they were either over or under the actual, what you found was that, oddly enough, in one case they were exactly even - they each diverged by three HDDs - but in other cases they were split 13/13.  No, I'm sorry.  Let me correct that.  That was my first cut at this.  I then had to amend it.

Basically it is not very different, but what it shows is that the 20-year -- the 20-year trend line was over the actual by 16 years and under the forecast -- under the actual by ten years, and the 55-45 was over by 17 years and under by nine years.

So effectively both tended to over-forecast, but the - two things I guess arise from that for me.  One is that 55-45 seems to me to be the more accurate of the two, and, as I say, they both seem to be equivalent in terms of their symmetry.

Do you have any comment on that, on that -- on the table?

MR. GARDINER:  Well, you mentioned -- you raised the issue of accuracy, and this goes to the statistical analysis in the evidence, the original evidence on page 6 of 7 in C1, tab 5, and the accuracy measure is the root mean square error, and another one is the mean percent error.

And in that table 1, the root mean square error for the 20-year trend is 269 compared to 306.  So the 269 is smaller, and this is telling us that over the period, if you do the -- run the estimate for the normal and compare it to the actual when it comes in, that the 20-year trend is more accurate.

If you do it as a mean percent error, it is 1.9 versus 5.1.  That was in the original evidence.  And in one of the interrogatory responses, this table was updated to include the 2011 actuals and similar results occurred.  The root mean square error, the mean percent error -- mean percent error and the average variance from actual for the 20-year trend was smaller.

MR. BRETT:  I understand that.  I have read those numbers and I will come back to them in a moment, but I would take you back to the table that I quoted you.

The table clearly shows that over that 25-year period, the 55-45 blend was a closer approximation of the actual numbers than the 20-20 was.

I would comment in passing that this -- as I understand it, this is -- this is a short term -- we classify it as a short-term forecast.  In other words, you are forecasting -- in any given year, you are forecasting the degree days for the following year and the year after that; right?

MR. GARDINER:  In the case of the current evidence, given the lead times, we actually had a three-year lag, because the original evidence was up to 2010 and we were forecasting for 2013.

And when we did the update for 2011, we brought it back to a two-year lag, which is sort of -- was the sort of normal regulatory lag prior to 2004.  But I will take your point that we're short term, whether it is two or three.

But the root mean square error is the accuracy measurement, and the mean percent error.

MR. BRETT:  Well, I guess what I would --


MS. HARE:  Before you continue, Mr. Brett, you are making a lot of statements and comments that probably are best dealt with in your submissions.  So just ask your questions, please.

MR. BRETT:  All right.  Thank you.  I was really putting the stuff in the tables to him so he could understand --


MS. HARE:  I am reading what you said:  I would comment in passing that this -- as I understand it, this is the short term -- we classify it as a short...

There is no question there.  So please just focus on the question.

MR. BRETT:  All right, thank you.  Would you agree with me that from the point of view of -- if you look at page 6 of 7, which is your statistical -- well, let me go back a half a step.

Am I correct in assuming that, in your view, the key criteria for a forecasting methodology are you have five altogether, and the ones that you consider most important are accuracy and symmetry?  Is that fair?  I don't think you need to repeat your evidence, but if you just could tell me if it is "yes" or "no".

MR. GARDINER:  Those are two.  Sustainability, yes, and simplicity, also.

MR. BRETT:  The three others where you had mentioned - did you mention three others, sustainability, simplicity and stability?

MR. GARDINER:  Correct.

MR. BRETT:  So you have five altogether?

MR. GARDINER:  Yes.

MR. BRETT:  And you will agree with me that both methods are simple?

MR. GARDINER:  The trend method is more simple than the blend.

MR. BRETT:  Why would you say that?

MR. GARDINER:  Because I have to have two steps, two calculations.  I have to do a 30-year average and then I have to bring in a 20-year trend, and come up with the blend.

MR. BRETT:  Is the 30-year average a complicated calculation?

MR. GARDINER:  No.  But it is another set of numbers that one has to check and bring together.

MR. BRETT:  All right.  You would agree with me, would you, if you look at -- well, if look at table 1 on page 6, which you were just alluding to, that from a stability point of view, the 55-45 trend is the more stable, since the standard deviation of variance is lower?  Would you agree with that?

MR. GARDINER:  Yes.  And that -- yes, and that is because it has a 30-year average in it.  And a 30-year --


MR. BRETT:  All right.

MR. GARDINER:  And a 30-year average --


Mr. BRETT:  From the – sorry, go ahead.

MR. GARDINER:  The 30-year average, Mr. Brett, because it's a simple average and because it is 30 years, by construction is more stable.

MR. BRETT:  Yes.  So that means that another way of saying that, I guess, would be that it is -- it is -- on the stability criteria, it would rank ahead of the 20-year trend; is that fair?

MR. GARDINER:  Yes, it does.

MR. BRETT:  And the sustainability criteria, I take it -- what does that mean, from your point of view?  Does that –- it...

MR. GARDINER:  Sustainability means it can be reproduced.  There is no issues in databases and collecting the information and --


MR. BRETT:  Okay.  So they're both equivalent.  Would you agree with me that the two methods are both sustainable?

MR. GARDINER:  Yes.

MR. BRETT:  And then the -- I think we agreed that the two methods were –- were -- you agreed with me that both methods are relatively simple?  Although you said, I think, that the trend was a little bit simpler; is that right?

MR. GARDINER:  Yes, I will -- yes.

MR. BRETT:  So that leaves us, then, with the issue of -- I don't know what the right -- the right word, I guess, is not "fairness" but it's -- symmetry.

Would you agree that the table that I pointed out to you at J.C-2-2-1 shows that the -- demonstrates that the symmetry of the two forecast methods is quite close?

MR. GARDINER:  You know, I have difficulty with that, Mr. Brett, because when I go back to the charts, I don't see it.

I see the path of the 20-year trend going through the middle of the data, and that demonstrates the symmetry.

I see the 55-45 sort of clipping the tops of the high, colder years than the actual data.

And that is why to me, when I look at that data in the analysis, is that the 20-year trend is more symmetric and the root mean square and analysis indicates that too.

MR. BRETT:  Let me go on, then.  Okay.  I would like to talk a little bit about the -- well, perhaps one other question on the methodology before moving on to the two types of forecasts.  And this, perhaps, is trying to get at, a little bit, the underpinning idea behind the trend.

You -- am I right in that you used the trend that you developed, this trend line, to forecast future degree-days in the years -- the bridge year and the test year?

MR. GARDINER:  That is correct, yes.

MR. BRETT:  And then at the end of the test year, you get an actual number.  Now, do you -- in looking at the accuracy of that comparison, your forecast and the actual number, do you normalize the actual number?  Or do you use simply the actual number?

MR. GARDINER:  I just use the actual number and compare it to the estimate of -- for the test year.  So it is simply when we're -- yeah, we're just comparing the actual against the test year.

MR. BRETT:  Okay.  Then in forecasting the subsequent years, using -- you have an actual number now, and let's assume you are doing a forecast for the next two years.

How do you -- how does that actual number change or impact the forecast that you are making for the subsequent two years?  Does it affect it?

MR. GARDINER:  In the -- in the corporate budgets, the budget year is similar to the test year.  So we establish the normal for that year.

For the year after the test -- after the test year, so in this -- so the -- the actual -- and after the test year and the bridge year before the test year, we assume the same estimate.

We do that for simplicity reasons, because then we can compare volumes in the test year and the year after on the basis of the same normal.

You could continue to project down the trend, but then you would be correcting for an additional year of decline in the normal.

MR. BRETT:  So just so I understand, for purposes of forecasting those subsequent two years, do you actually -- you don't -- am I hearing you correctly that you don't take into account the actual test year number?

MR. GARDINER:  If we were doing 2014, the weather-normal for 2014 is the 2013 normal.  Now --


MR. BRETT:  All right.

MR. GARDINER:  Okay?  But each year we reset the normal, because we're going forward when we do another budget.  So it is a moving...

But if you have a three-year plan, the year after the test year and the bridge year have the same normal, in our budgets.

MR. BRETT:  Okay.

MR. GARDINER:  Now, maybe just let me correct this.  In the original cost of service information for 2012, which is the bridge year, we did the forecast on the basis of the 55-45, because we're under that -- that normal.  But for 2013, which is the test year, we applied the 20-year declining trend.  Okay?

MR. BRETT:  Let me turn for a moment to the general service forecast and the commercial part of it, if I may.

As I understand it, the equation that you use for the general service part, the commercial general service customers -- and these, I take it, would be -- am I right in thinking these would be M2 -- this would be the old M2, for simplicity -- 01 and 10, those would be -- customers in those rate classes would be examples of -- they would be general service customers, commercial?

MR. GARDINER:  That is correct.

MR. BRETT:  And as I understand it, you have a new equation, you have a new forecasting method that you developed in 2008 for this group of customers; is that right?

MR. GARDINER:  I will correct you just a bit.

In preparing this evidence, the commercial forecast is prepared on a consolidated basis.

MR. BRETT:  Right.

MR. GARDINER:  So those rate classes that were just mentioned, we consolidated them and then prepared a demand equation for the whole consolidated market.

And then we broke that total market into its components, the north and south, and then into its rate classes.

MR. BRETT:  Okay.  Just for a rough estimate, I gather that for the general service market as a whole, the commercial -- basically it breaks down something like this, that the residential is about 55 percent, the commercial is about 35 percent, and the industrial is about 10 percent?

MR. GARDINER:  That is correct.

MR. BRETT:  Okay.  Now, I would like you to go to page -- I would like you to turn to page 16 of the C1, tab 1 evidence.  I have a number of questions around -- that will deal with statements or graphs on page 16, 17 and 18.  So if you can kind of have those handy?

MR. GARDINER:  I have 16, 17 and 18.

MR. BRETT:  Yes.  This is C1, tab 1, pages 16, 17, 18.

Now, first of all, on page 16, you cite -- as I understand your evidence, you cite the drivers for this forecast method that you have developed or forecasting equation, whatever you wish to call it, for the commercial general group; correct?

MR. GARDINER:  Correct.

MR. BRETT:  And you have five criteria there.  You have weather, and this is -- this is the new presentation that you are making starting in 2008.

So you have weather, number one.  What is the relative strength of that in the calculation?  You've got five separate factors here.  Can you assign some weights to these, in terms of most important to least important?

MR. GARDINER:  Weather is the most important, followed by the structural trend variable, followed by the harvest season variable, and then it would be structural base and binary dummies.

MR. BRETT:  Okay.  Now, I want to look at the structural trend variable for a moment, if I may.  In your evidence, you state at little (iii), page 16:
"A structural change variable - starts at a value of 100 in January 1991 and increases until April 2006 to a value of 283 and remains constant."


Right?

MR. GARDINER:  Correct.

MR. BRETT:  And down below in the middle of the next paragraph, you talk about the structural trend variable.  As I understand what you're saying in the middle sentence there, you say that the structural trend variable accounts for the observed declining trend in NAC from 1991 to 2006.

So could you -- with that, taking into account that some-way explanation, could you sort of link that in to what I read you before?

MR. GARDINER:  Yes.

MR. BRETT:  How does it work, essentially, or how did it work?

MR. GARDINER:  Okay.  If I could bring your attention, Mr. Brett, to figure 7 on page 24 of 25 --


MR. BRETT:  Right.

MR. GARDINER:  -- you will see that over the period 1991 to 2006, that the consolidated normalized average consumption had a decline in it.

MR. BRETT:  Right.

MR. GARDINER:  Now, it bounced around, but there was a decline.  It was trending down, and then it flattened.  It looks like a hockey stick, if you wish, but it is a hockey stick that has these spikes on it, okay?

So the other variable, the harvest variable, is accounting for the spike -- the spikes.

So the structural trend variable is, I need a variable in the equation to explain the fact that over the period '91 to 2006 the usage on average was declining.

MR. BRETT:  Right.

MR. GARDINER:  And that is what that variable does.

MR. BRETT:  Okay.  Now, if I could take you to figure 3 at page 18 of your evidence, you -- two things.  First, I would like -- would you agree with me that figure 3, commercial NAC trend indices, does show a declining NAC?

And this is -- first of all, just I think for everybody's benefit, not least my own, these -- this NAC that is shown here is shown for each of the components, the old rate M2, the sub-components, the rate 1 and 10, but it is also shown for the total; correct?

MR. GARDINER:  That is correct.

MR. BRETT:  That is what you're calling your aggregate approach?

MR. GARDINER:  Correct.

MR. BRETT:  All right.  Now, would you agree with me that from 2006 on, what you see in that graph is an up-trend; not flat, but an up-trend?

MR. GARDINER:  Okay.  The black line -- first of all -


MR. BRETT:  The black -- sorry.  I guess I should have said which.  I guess I should have been specific as to which line.

Do you see -- would you agree that there is an up-trend, that each of the four lines show an up-trend, each of the lines for the individual rate classes and the thick black line, which I, with my poor eyesight, take to be sort of the bottom line, the total commercial?

MR. GARDINER:  The --


MR. BRETT:  They all...

MR. GARDINER:  The -- over the period, if you look at the thicker black line that is in the middle below the red line, that is total commercial.  That's the consolidated market.

And from 2005 to 2010 it was declining -- it is flat to decline, and in 2011 we have an uptick.

MR. BRETT:  And you...  All right.

MR. GARDINER:  But in most years it was flat, with the exception of 2011.

MR. BRETT:  Now, in the...  But my statement, do you agree with me my statement was correct, that from 2006 to 2011, inclusive, you have an increasing -- you have an increase in the M2, the old M2, which -- as well as the two rates, the two smaller volume rates in the northern section, the rate 01 and 10?  Do you agree with me perhaps further that in terms of volumes here, it is the old M2 that is the major volumetric driver?

MR. GARDINER:  Well, the old M2 is the larger class in commercial.

Now, if I take you to the interrogatory response to J.C-1-2-4, page 2 of 3, I am responding to Mr. Aiken's question regarding the spike in -- well, the NACs in 2011.

And the reason I bring your attention to the top paragraph that starts "December 2011", I am talking about the commercial market.  And when I did the variance analysis, which is on page 3 of 3 in that same interrogatory response, the residual, which is unexplainable, is the largest portion, okay?  That is the reason for the spike.

And I responded in the -- on page 2 that then we had data up to April, and the commercial NAC was receding from the spike, okay?  It was no longer 17,000.  It was indicating 16,500, and that is what I am seeing today.

So the spike that occurred in 2011, I don't know where it's coming from.  It occurred, okay, but it is receding, based on data that I have currently.

So long story short, I see a hockey stick with a blade, and there's a jagged pattern that happens.


MR. BRETT:  Well, I think your comment -- would you agree that -- I mean, there is a jagged pattern.  There is no question that it seemed -- would you agree that the actuals, that the NAC have exhibited a considerable amount of volatility year to year?  You talked of a saw tooth pattern on page 3?


MR. GARDINER:  Yes.

MR. BRETT:  You'd agree with that?

MR. GARDINER:  Yes.


MR. BRETT:  You'd agree that what you see as a spike and I might see as an uptick, as part of a secular up-trend?


MR. GARDINER:  Well --


MR. BRETT:  I guess you -- would you agree that those numbers, those lines are capable of more than one -- they're capable of more than one interpretation, more than one reasonable interpretation?


MR. GARDINER:  Well, my interpretation is I see it going up, going down.  I see a variable, the harvest variable that explains the other -- the first two up and down saw tooth pattern.

Part of the 2011 pattern can be explained by it and –- I'm going to be careful there.  Hang on.  No, I will take that back.


When I did the analysis that's on page 3 of 3 in J.C-1-2-4 and I looked at all of the variables that is in the equation, I have a residual.  I can't explain residuals.

So what I can do when I get more data in 2012 is say:  Okay.  What's happening?  Is it permanently up there or is it coming down?


Well, it's coming down, so to me, that tells me it is a residual.  It's...


MR. BRETT:  All right.  If I could take you to your -- back to the final page or two of your evidence, C1, T1, page 18, page 24, this point, I believe, was -- I think it was touched on earlier, but again, looking at the commercial all rates number 7, figure 7, what I note here is -- well, what I would ask you is:  You show in your little box a forecast decline from 2011 actual to 2013 forecast of about six-and-a-half percent.


Would you take that, subject to check?

MR. GARDINER:  I will.

MR. BRETT:  I just -- it's just really a question of fact.  You know, you start off with 2011 of 17,006, and then you drop through two years of forecast to 15,876.

That's -- I would take it you would agree that that's -- in terms of the increments up and down that you see in this sort of forecast, that is a very significant amount?

MR. GARDINER:  And that, as we were talking about earlier, is because of the residual that is in the 2007 -- 2011 actual.  2011 actual NAC was high.

MR. BRETT:  Would you agree that the residual is effectively a comment?  Having a residual of that magnitude is effectively saying that your model is deficient to some degree?


MR. GARDINER:  No.  It could be an outlier.

MR. BRETT:  Well, what do you mean by an "outlier"?

MR. GARDINER:  As I was explaining earlier about structural dummy -- about use of dummy variables in regression analysis, you can use them to account for outlying data.  So --


MR. BRETT:  So you use them to – sorry, go ahead.  I'm sorry.  I apologize.  Go ahead.


MR. GARDINER:  So I just finished 2011.  Okay?  And I am looking at my data in 2012 so I can see patterns, to say:  Okay.  Is it an outlier or is it real?  Right now, I just know it is unexplained -- unexplainably high, and I know from my year-to-date information that it is receding.


So that tells me it is a spike and it is a candidate for being an outlier, but not yet.

MR. BRETT:  Because you have just four months of data?

MR. GARDINER:  Right.


MR. BRETT:  Out of 12?

MR. GARDINER:  Correct.


MR. BRETT:  But you use the dummy variable to effectively eradicate outliers?

MR. GARDINER:  Correct.


MR. BRETT:  But that is hardly -- that's -- and you mentioned that to Mr. Aiken.  That seems -- do you not agree that seems like a rather odd conceit to use in the context of a model?  You simply obliterate a number that you don't like or you can't explain?


MR. GARDINER:  That is what we do with regression analysis when you do have an outlier.


What I'm -- what I'm saying is when I did the analysis, I have the residual.  It is too early for me to call it an outlier.  I suspect it being an outlier.  Okay?  And if it is an outlier down in the future, it will have a dummy variable.


MR. BRETT:  But to take your point -- and I appreciate your frankness -- if it is not an outlier at the end of the year, would you agree that it means that you need to not have a structural adjustment factor that runs flat in your new equation -- if I can make myself clear -- but you need an adjustment factor that turns up in your equation?

MR. GARDINER:  When we have all of the data, if the usage is up, you would have to model something to explain the up.  Right now, I see it receding.

MR. BRETT:  Can we turn for a moment to the customer contract -- the contract customer section, which is the other section?


Correct me if I am wrong, but my understanding is, in simplistic terms, in the -- in forecasting revenues, throughputs and revenues, you have two chunks.  You have the general service and you have the contract revenue.


And the contract -- or throughput and revenue.

I read your evidence to say that the contract revenue constitutes about 62 percent of your total delivery revenues, so it is the bigger piece.  The general service revenue is about 40 percent; is that right, approximately?

MS. VAN DER PAELT:  If I refer to page 3 of 14 on C1, tab 2, it is 62 percent of our throughput.


MR. BRETT:  Right.  Delivery throughput.


MS. VAN DER PAELT:  But 17 percent of our in-franchise delivery revenue.


MR. BRETT:  Yes, and I think I used the word "throughput" when I asked the question.  So I am correct in that?


MS. VAN DER PAELT:  Yes, that's correct.


MR. BRETT:  Thank you.  So the -- now, again, if we look at the contract market as I understand it, am I right in thinking that, at a high level, there are really two pieces to that for purposes of forecasting revenues, throughputs?


There is the -- what you call your "largest 60 users," so that that is one chunk.


The other chunk is what you call your "LCI market," and your LCI market are, as I understand it, your small to medium commercial and industrial customers who have contracts.

Your largest 20 users -- am I correct in thinking that they –- and tell me if I am wrong in this -- but that they have -- all of those 60 are industrial customers?  Or might some of those 60 be large commercial or institutional customers?


MS. VAN DER PAELT:  Some of the 60 are large commercial and industrial.


MR. BRETT:  How many of the 60 are industrial customers?

MS. VAN DER PAELT:  I think there are two institutional in the group.

MR. BRETT:  Okay, thank you.  Now, I want to skip for a moment forward to the LCI market, what you call the LCI market, and I will come back to that.  I will come back to the large 60.

But am I right in describing -- when I describe your contract market as having those two chunks from the point of view of forecasting, I am really referring here to forecasting methodology.

Am I right or am I leaving some third chunk out?

MS. VAN DER PAELT:  No, you are correct.

MR. BRETT:  And as I understand your evidence, the LCI market, which I said were small- and medium-sized commercial and I take it institutional and industrial customers, you say you have 430 customers in that category, approximately?

MS. VAN DER PAELT:  Yes.

MR. BRETT:  And they account for, as I understand it, about 28 percent of the throughput of the contract customer section, but 40 percent of the revenue, is that right, approximately?

MS. VAN DER PAELT:  Yes, approximately.

MS. HARE:  I would like to jump in for a second.  The question that was posed a few minutes ago, you were talking about the 60 largest customers, and the question -- the discussion was:  How many of the 60 are industrial customers? Some of the 60 are large commercial and industrial.  How many of the 60 are industrial customers?

And you answered two are institutional customers.

MS. VAN DER PAELT:  So power would be included in that, and I don't have my exact number of power, which I would have to back off of that 60.

I do know there are two institutional.  So I think there are about 12 power, subject to check.

MS. HARE:  Then the rest are industrial?

MS. VAN DER PAELT:  Right.

MS. HARE:  Okay.  I just wanted to make sure the transcript was accurate.

MR. BRETT:  I just wanted to pick up on Madam Chair's question there for a moment.

Does that mean there are no commercial customers among those 60?  In other words, when I speak of commercial customers, I mean customers like large office complexes, large malls, regional malls.

MS. VAN DER PAELT:  There wouldn't be anybody of that description.  What we would also include in the commercial would be hospitals and schools, universities.  That's where the two would come in.  There would be no shopping malls, high rises, that type of facility.

MR. BRETT:  So when you say "commercial", you include institutional in there?

MS. VAN DER PAELT:  That's correct.

MR. BRETT:  Okay, thank you for that clarification.

Now, just going on on the LCI market for a moment, you use an econometric forecast for the LCI market, I gather.  You have started doing that fairly recently; is that true?

MR. GARDINER:  Yes.  Yes, we have.

MR. BRETT:  You started in 2008; is that right?

MS. VAN DER PAELT:  That's correct.

MR. BRETT:  And you started that -- I guess, as I understand your evidence, you concluded that you should -- well, first of all, before you moved to an equation-based forecast, what did you use before 2008 for that group of customers?

MS. VAN DER PAELT:  We based it on historical, so previous 12 months' actuals.

MR. BRETT:  Of the overall amount?

MS. VAN DER PAELT:  For each customer.

MR. BRETT:  You did it customer by customer?

MS. VAN DER PAELT:  Right, but based on their previous 12 months' profile.

MR. BRETT:  The previous 12 months.

MS. VAN DER PAELT:  Yes.

MR. BRETT:  Then you decided to go from that method to an equation or, if you like, in the fancier terms, econometric method.

You did that, as I understand it, because you thought you had enough data, a large enough group of customers, that you had identifiable demand drivers and you had clearly identifiable economic indicators; is that fair?  That is what I took from your evidence.

MR. GARDINER:  That's fair.

MR. BRETT:  And the -- I also took from your evidence -- and I think this is at page 5 of 14 of C2.  I don't know that you need to turn it up, but you would probably feel more comfortable doing that.  Now, the question is:  Can I find it?

MS. HARE:  You mean C1, tab 2?

MR. BRETT:  Yes, C1, tab 2, page 5.  Okay.  So we've talked about the drivers, and then in the bottom of the page you talk about the actual key -- you talk specifically about the key drivers, and the number of accounts is the first one.  I think we can all understand that.

But you have two others, the exchange rate and the natural gas price at Dawn, Ontario and heavy fuel oil number 6 price; is that right?

MR. GARDINER:  That's correct.

MR. BRETT:  Those are the three -- now, leaving out the number of accounts, if I may, because that obviously will increase the amount if the number of accounts increase, do you have weightings that you assign to those last two, the exchange rate and the differential between gas prices and heavy oil prices?

MR. GARDINER:  Well, the regression analysis, which is presented on page 3 of 5 in appendix A of C1, tab 2, table 1, you can see -- in the middle of the table, you will see on the left-hand side the intercept, the January heating degree day down to December.  Then you have the number of accounts, the exchange rate, and there are some dummy variables again.

For the LCI market, you will see that you have the exchange rate and number of accounts.  Now, the coefficient is telling you in the regression that if the exchange rate appreciates, say, by a penny, then you are going to lose -- you will lose 37916.8 ten-threes of consumption --

MR. BRETT:  Sorry, that number again is 37 -- oh, I see.

MR. GARDINER:  Yes, so the coefficient.  So the coefficient is saying, when the exchange rate changes, this is how much the volume is changing by.

Similarly, the number of accounts, when we lose accounts - because in the LCI market we're losing accounts, okay - this tells us how much volume we're losing each month for an account.

MR. BRETT:  Now, I see nothing that deals with the fuel price differential there.

MR. GARDINER:  Okay.  The fuel price is -- okay, in the -- is in the greenhouse market.

MR. BRETT:  Oh, I see.  All right.  I think, if I may interrupt just to save time, I think that is a sufficiently small market that we don't have to go into that in too much detail, but I take your point.

So you're saying that the -- you have answered my -- I take it am I right in saying that what you're saying is that the only -- that the greenhouse market is a relatively small subsection of this LCI market, and it is the only part of the LCI market that needs to -- where the forecast of future consumption needs to look at the variable of relative fuel prices?

MR. GARDINER:  There are two separate markets.  There is the LCI market, and then there is the greenhouse market.

MR. BRETT:  All right.  Okay, fine.  Now, also, when you are describing this evidence in your evidence, as I read it, in this LCI market, I want to make sure I've got this right.  You talk about the LCI market being -- having in it mining, auto parts and forestry as three prominent parts.  Am I right in that?

MS. VAN DER PAELT:  Can you just tell me where you're referring to, Mr. Brett?

MR. BRETT:  Yes.  I was afraid you would say that.  Just give me a minute here.

MS. VAN DER PAELT:  Actually, no.  I would agree with you, because there would have been automotive parts --

MR. BRETT:  I'm going from notes here rather than the actual text, but I was quite certain I read that.

So among other groups of customers, you've got forestry, auto parts and mining?

MS. VAN DER PAELT:  They would have been part of that group, yes.

MR. BRETT:  Right.  And they would have -- now, the...

Now, if we turn to page 7 on the -- page 7 of C1, tab 2, this is -- you have a volume comparison by market sector.

And just -- if I understand it right, when you described your overall contract market earlier, you have these six sectors, one of which is power, and you discussed that with Mr. Wolnik.  Then you have LCI and you had greenhouses; we talked about that.  Then you also have a steel chemical refinery, right?  And a small wholesale?

MS. VAN DER PAELT:  Correct.

MR. BRETT:  But the ones with the big volumes -- and I guess the ones with the big revenues, looking down as table 2, more to the point -- are power, steel chemical refinery and LCI, right?

MS. VAN DER PAELT:  That's correct.

MR. BRETT:  And you show, looking at your forecast of revenues in table 2, you show -- as you discussed with Mr. Wolnik -- looking at 2007 and moving forward to 2013, you have an increase in the power market -- you have an increase in the steel chemical refining market, right?  Sorry, a decrease in the steel chemical refining of about 1.8 million or so, right?

MS. VAN DER PAELT:  Yes.  It decreases, and then there is a slight increase in 2011.

MR. BRETT:  Right.  But then 2013 relative to 2007 is a decrease of about 1.7 million, right?

MS. VAN DER PAELT:  Correct.

MR. BRETT:  Then the LCI market, you have a decrease of 10 million from 2007 to 2013, right?

MS. VAN DER PAELT:  That's correct.

MR. BRETT:  And that is by far the largest decrease of any of the sectors, right?

MS. VAN DER PAELT:  Yes, it is.

MR. BRETT:  And the -- a question, I guess, just focussing for a moment on the mining sector.

You talked about the mining sector as one of the sectors in this LCI.  Is it not the case that it is generally -- the mining sector is generally understood to be expanding in Ontario?

I ask you that, you know, not as an expert, but I ask you that in light of some anecdotal evidence, some of –- Goldcorp, for example, is just -- as you know, because you built a line to it -- expanding its facilities in Red Lake substantially.  Are you aware of that?

MS. VAN DER PAELT:  I am.  So anecdotally, mining is increasing, but it is in the far reaches of northern Ontario, where there is no gas service for the most part.

MR. BRETT:  Red Lake is getting gas service.

MS. VAN DER PAELT:  They are, but I would say that they would be one of the few, when you look at the economics.

MR. BRETT:  Mm-hmm.

MS. HARE:  Okay.  Let me just interrupt again, because just reading the transcripts, it will be wrong.

You took Ms. Van Der Paelt through steel chemical, and you had her agree that the decrease in 2007 to 2013 was 1.8.

Well, I am looking at the numbers and it is three million.

Just to make sure that the numbers are correct in the transcript.

MR. BRETT:  Oh.

MR. SMITH:  I think he was comparing Board-approved of 37.2 to 35.5, which is 1.7.

MS. HARE:  37.2 to 35?  Okay.  That is fine.  So just to make it clear on the transcript.

MR. BRETT:  Fair enough.  Okay.  Thank you, Madam Chair.  Now...

MS. HARE:  Sorry I broke your train of thought.  You were going to Red Lake --


MR. BRETT:  It's okay.  I was trying to get to another table here.

I show -- I asked about the length of the reduction in LCI from 44.8 to 34.7.  And now in table -- I guess what I want to look at is in table 3, if we go over to table 3 at page 11 of your evidence, there we have a different formula.

We have a volume comparison.  So it is volume –- well, I guess we -- I guess, really, I can't compare -- I am going to have to compare volume with volume.

So if you -- let's look back at your table 1.  Pardon me for the confusion.  Table 1 as page 7 of 14.

If you look at the LCI volumes there, the --


MS. HARE:  Mr. Brett, how much longer do you think you will be?

MR. BRETT:  Well, you know, I am getting close to the end, Madam Chair.  I probably -- I probably can finish up in five minutes.

MS. HARE:  Okay.  That would be fine, because we do have a hard stop at 4:30.

MR. BRETT:  If you have to stop me, fine, you know.  I'll try --


MS. HARE:  Hopefully you will be done.

MR. BRETT:  -- and finish by then.  I am close.

Okay.  So we look at the volume in table 1, and you've got -- LCI goes from 2.8 in 2007 down to 2.117 in 2013.  So it is one of the largest -- well, it is the largest volume decline, by quite a bit, of the sectors.

Now, if we go over to table 3, which does a volume -- a similar exercise but by rate class, you are showing rates 100 declining by about 300,000, 0.3 compared with the 0.8 that we discussed -- 0.7, let's say.  If we look at table 1, the difference there between 2.8 and 2.117, that is the LCI line is 0.7, right?  Roughly?  Or 700,000?

Forgetting about the actual number, and looking at just the proportions?  Am I right?

MS. VAN DER PAELT:  So which table are you on?  Sorry, Mr. Brett.

MR. BRETT:  Sorry, I'm on table 1, page 7, line 3.

MS. VAN DER PAELT:  Right, and you're --


MR. BRETT:  See the LCI going from 2.8 to 2.1?

MS. VAN DER PAELT:  Right, so -- which is 700,000 reduction, 700 10-6, approximately, yes.

MR. BRETT:  About 25 percent approximately?

MS. VAN DER PAELT:  That's right.

MR. BRETT:  Then if you go over to the table 3 and you look at T1, you see an increase from 2007 to 2013, right?  Of about 0.4?

MS. VAN DER PAELT:  Correct.

MR. BRETT:  And rate 20 you have an increase, the northern rate you have an increase in the rate 20 of about 0.1, from 505 to 610?  Right?

MS. VAN DER PAELT:  Correct.

MR. BRETT:  You have a decrease in rate 100 from 2.2 to 1.9, say, rounding.  So that gives us a negative 0.3, which offsets the -- essentially, more or less washes out with the T1 and the 20 increases, rights?

MS. VAN DER PAELT:  So in the table 3, in each rate class, you will see a mix of all of the different segments.

MR. BRETT:  Right.

MS. VAN DER PAELT:  So I think the difficulty you have is you will not find a clean match of the 700 10-6 from table 3 -- or table 1, related to LCI key into table 3, because there will be offsets showing up from the increases in the steel and chemical and refinery and in the power that cloud that mixture.

So they will be embedded in those numbers.

MR. BRETT:  Yes, okay.  So you're saying really you can't compare those two?

MS. VAN DER PAELT:  Right.  I could tell you -- so if you look at table 1 or table 2 on page 7, your LCI and key market primarily fall into four rate classes.

MR. BRETT:  Right.

MS. VAN DER PAELT:  They primarily fall into M4, M5, rate 20 and T1.

MR. BRETT:  Right.

MS. VAN DER PAELT:  And the declines that we're seeing are declines, as you can see -- they have actually materialized.  I am going to point you to 2011, where we're already down 8 million from the Board-approved of 2007.

So this is the actual closures of the manufacturing facilities in the automotive sector and others that have happened as a result of --


MR. BRETT:  Yes, I take your point.  But you agree with me that your forecast for 2013 for M5, T1, 20 all show increases?

MS. VAN DER PAELT:  But in there, you will also have the power market, which does show an increase, as well as some steel chem.  So -- and some greenhouse.

So they will all be blended in when you get to the rate level.

MR. BRETT:  So you are satisfied that there is no disconnect between these two tables?

MS. VAN DER PAELT:  Absolutely.  In fact, if you go to the "Total" line, you will see how the totals match up.

MR. BRETT:  Okay.  I guess, then, the question -- or the final question, and I suppose where I was going with this all the way along is you have in the revenue requirement -- sorry, in the revenue comparison by market sector back on table 2, you have a massive decline of 25 percent forecast for 2013 relative to 2007.

I mean, that is a remarkable amount of --


MR. SMITH:  Sorry.  Perhaps Mr. Brett could just direct the 25 percent as a comparison of which?

MR. BRETT:  Yes.  Sorry, it's a comparison between -- there is 44.8 million in revenue in 2007, Board-approved, and then if you look over at the forecast on 2003, there is 34.7.

So that is a decrease of roughly 25 percent, I think; right?

MS. VAN DER PAELT:  Right.  And if I point you to 2011, over 20 percent of that increase has already materialized, because those are actual numbers reflecting revenues that we're seeing today, of 36.4 million compared to the 44.8 in Board-approved.

MR. BRETT:  Right.  But at the same time, do you not agree there seems to be a recovery happening, certainly in the mining sector in Ontario, perhaps to some degree in auto parts?

MS. VAN DER PAELT:  We are continuing to see closures and I would say a flat level in terms of demand.  So the plants that are open are not increasing their gas consumption levels, and it is not materializing in the numbers that we're seeing.

In fact, it is still a hurting industry, I would say, manufacturing in Ontario.

MR. BRETT:  All right.  Madam Chair, I just have one other small section which deals with the large 60, but I could do that at the very beginning the next time.  It is ten minutes or so.

MS. HARE:  Okay.  We will do that on Thursday morning, because we do have a hard stop.  Thank you.

MR. SMITH:  Sorry.  Members of the Panel, I know you have to go.  I am just going to have my colleague, Mr. Ripley, hand out a schedule, the schedule that we had prepared, and you will see at the back page we have attached the most up-to-date cross-examination estimates.

It might need some tinkering at the back half to deal with Mr. Rosenkranz's schedule and Dr. Booth's, but we will look with our friends to firm that up.

MS. HARE:  We will look this over tomorrow and we can comment on Thursday, if there is a need to.

MR. SMITH:  You will see on the second page that we have proposed a schedule for argument.  It is obviously just a proposal, and obviously we will hear from the Board on that point.

MS. HARE:  Okay, thank you.

MR. SMITH:  Thank you.

--- Whereupon the hearing adjourned at 4:32 p.m.
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